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NEW QUESTION 1
- (Topic 4)

Graphical user interface, text, application, email Description automatically generated
Refer to the Exhibit. Running the script causes the output in the exhibit. What should be the first line of the script?

A. from ncclient import manager
B. import manager

C. from ncclient import *

D. ncclient manager import

Answer: C

NEW QUESTION 2
- (Topic 4)

SW1l8 show etherchannel summary

Flage: D = down P - bundled in port-channel
I = stand-alene » - suspended

- Hot-standby (LACP only)

- Layerd 8 - Layerl

- An use f - failed to allocate aggregator
not in use, minimum links not met

- unsuitable for bundling

= waiting to be aggregated

- default pore

Number of channel-groups in use: 1

Number of aggregators: 1

Group Port-channel Protocol Ports

o e xX P
I

R E E  F o T

1 Pel(8 D ) PAgP G11/0(X) Ga1/1(I)

%28 show etherchannel summary

Flage: D = down P - bundled in port=-channel
I - stand~alone » = suspended

M = Mot=standby (LACPF oaly)

R - Layerd 8 - Layerl

U= ain use f - failed to allocate aggregator
M - not in use, minimum links not mat

u - unsuitable for bundling

W = waiting to be aggregated

d - default port

Number of channel-~groups in use: 1

Nunber of aggregatora: 1

Oroup Port-channel Protocel Porte

- R O i

1 Pol(2 D ) LACP GAl/0(I) GAL/1(D)

Reler to the exhibit The EtherChannel between SW1 and SW2 is not operational. Which a coon will resolve the issue?

A. Configure channel-group 1 mode active on GVO and G1 1 of SW2.
B. Configure twitchport trunk encapsulation dotlg on SW1 and SW2.
C. Configure channel-group 1 mode active on GI'O and GM of SW1 .
D. Configure switchport mode dynamic desirable on SW1 and SW2

Answer: C

NEW QUESTION 3
- (Topic 4)
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10,1 1.3/24
| AWF

Seral 0 !
205.1635.201.30v/27
Outside

Inside

intazface Etharnatl/OQ
ip addreas 10.1.1.3 255.255.285.¢0
ip nat inside

intarface Seriall/0
ip address 209 .165.201.30 255.255.255.224
ip nat outsids

ip nat inside source statie 10.1.1.2 209.165.201.2
ip nat inaids source static 10,.1.1.1 20%.165.201.1

NEATd show ip nat transliations

Pro Inside global Inside local ODutside loocal Outside global
209.165.201.1 190.1.1.1 === ==
209.165.201.7 10.1.1.2 === ===

Refer to the exhibit. What are two results of the NAT configuration? (Choose two.)

A. Packets with a destination of 200.1.1.1 are translated to 10.1.1.1 or .2. respectively.
B. A packet that is sent to 200.1.1.1 from 10.1.1.1 is translated to 209.165.201.1 on R1.

C. R1 looks at the destination IP address of packets entering S0/0 and destined for inside hosts.

D. R1 processes packets entering EO/O and S0/0 by examining the source IP address.
E. R1 is performing NAT for inside addresses and outside address.

Answer: BC

NEW QUESTION 4
- (Topic 4)

FastEthernetl/0/47 - Group 1 (version 2)
State 1s Standby
7 state changes, last state change 00:00:02
Virtual IF address is 10.1.1.1
Active virtual MAC address is 0000.0c9r.£001

Helle time 3 sec, hold time 10 sec
Next hello sent in 0.375 secs

Authentication MD3, key-string "clsco”

Freemption enabled, delay min 3 secs

Standby router is local
Friority 100 (derault 100)
IP redundancy name is "hsrp-Fal/0/47-1" (default)

Local wvirtual MAC address is 0000.0c9f.f001 (vZ default)

Active router is 10.1.1.2, priority 2535 (expires in 9.396 sec)

Refer to the exhibit. An engineer configures HSRP and enters the show standby command. Which two facts about the network environment are derived from the

output? (Choose two.)

A. The local device has a higher priority selling than the active router
B. The virtual IP address of the HSRP group is 10.1.1.1.

C. If the local device fails to receive a hello from the active router for more than 5 seconds, it becomes the active router.

D. The hello and hold timers are set to custom values.

E. If a router with a higher IP address and same HSRP priority as the active router becomes available, that router becomes the new active router 5 seconds later.

Answer: BE

NEW QUESTION 5
SIMULATION - (Topic 4)
Simulation 07
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a1 T T Tasks RO S i
Cc e logging on SW01 and NetFlow on R achieve these
goals
Enable archive |ogging SWO WCK B84 e a change
: [0 the configuration and the user who made the change
2. The NetFlow Top Tatkers feature has been preconfigured on RO
Enable the fe: for all inbound traffic on interface EOZ of RO
=
A. Mastered

B. Not Mastered
Answer: A

Explanation:

Sw1l Config t Archive Log config

Logging enable Notify syslog

R1

Config t

Ip flow-top-talkers

Match source address 172.16.2.1/30 Int et0/2
Ip flow ingress Copy run start

NEW QUESTION 6
- (Topic 4)
Which Cisco DNA Center application is responsible for group-based access control permissions?

A. Provision
B. Design

C. Policy

D. Assurance

Answer: C

NEW QUESTION 7

- (Topic 4)

A network administrator wants to install new VolP switches in a small network closet but is concerned about the current heat level of the room. Which of the
following should the administrator take into consideration before installing the new equipment?

A. The power load of the switches

B. The humidity in the room

C. The fire suppression system

D. The direction of airflow within the switches

Answer: D

Explanation:

This is because the direction of airflow within the switches can affect the heat level of the room, as the switches can either exhaust or intake hot air from the
environment. The network administrator should take into consideration the direction of airflow within the switches before installing the new equipment, and ensure
that the switches are aligned in the same direction and have enough space for ventilation. The network administrator should also avoid mixing switches with
different airflow directions, as this can create a hot spot and reduce the cooling efficiency. The source of this answer is the Cisco ENCOR v1.1 course, module 2,
lesson 2.1: Implementing Device Hardening.

NEW QUESTION 8
- (Topic 4)
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Refer to the exhibit.

source interface FastEthernet0/1 tx
source interface FastEthernet0/2 rx

source interface port-channel 5
dastination remote vlan 222

monitor session
monitor session
monlitor session
monitor sassion

i

These commands have been added to the configuration of a switch Which command flags an error if it is added to this configuration?

A. monitor session 1 source interface port-channel 6

B. monitor session 1 source vilan 10

C. monitor session 1 source interface FatEtheret0/1 x

D. monitor session 1 source interface port-channel 7,port-channel8

Answer: B
NEW QUESTION 9

- (Topic 4)
Refer to the exhibit.

Router#show running-config | include aaa

aaa new-model

aaa authentication login default group tacacs+
aaa authorization exec default group tacacs+
aaa session-id common

Which configuration enables fallback to local authentication and authorization when no TACACS+ server is available?

A. Router(config)# aaa authentication login default local Router(config)# aaa authorization exec default local

B. Router(config)# aaa authentication login default group tacacs+ local Router(config)# aaa authorization exec default group tacacs+ local
C. Router(config)# aaa fallback local

D. Router(config)# aaa authentication login FALLBACK local Router(config)# aaa authorization exec FALLBACK local

Answer: B

NEW QUESTION 10
- (Topic 4)
By default, which virtual MAC address does HSRP group 30 use?

A. 00:05:0c:07:ac:30
B. 00:00:0c:07:ac:1e
C. 05:0c:5e:ac:07:30
D. 00:42:18:14:05:1e

Answer: B

NEW QUESTION 10

- (Topic 4)

An engineer must configure router R1 to validate user logins via RADIUS and fall back to the local user database if the RADIUS server is not available. Which
configuration must be applied?

A. aaa authorization exec default radius local
B. aaa authorization exec default radius

C. aaa authentication exec default radius local
D. aaa authentication exec default radius

Answer: C

NEW QUESTION 12

- (Topic 4)

Which mechanism can be used to enforce network access authentication against an AAA server if the endpoint does not support the 802.1X supplicant

functionality?

A. private VLANSs
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B. port security
C. MAC Authentication Bypass
D. MACsec

Answer: C
NEW QUESTION 14

DRAG DROP - (Topic 4)
Drag and drop the characteristics from the left onto the switching architectures on the right.

Process Switchi
1t optimizes the switching process to handle langer e
packet volumes.
It is refierred to as "software switching.”
The general-purpose CPU s in charge of packet
switching.
Cisca Express Forwarding
A. Mastered
B. Not Mastered
Answer: A
Explanation:
________________ n—
i 1t optimizes the switching process to handle larger i "
' packet volumes. It optimizes the switching process to handle larger

———— e e i e e packet volumes.

The general-purpese CPU is in charge of packet
switching.

switching.

L B e T | D il e T o IR Y —_— . . A _— 1_

]— The general-purpose CPU s in charge of packet i
Cisca Express Forwarding

1
| It is referred to as "software switching.”
L

NEW QUESTION 16
- (Topic 4)

An engineer must protect the password for the VTY lines against over-the-shoulder attacks. Which configuration should be applied?

A. service password-encryption

B. username netadmin secret 9 $9$vFpMf8elb4RVV8$seZ/bDA
C. username netadmin secret 7$1$42J36k33008Pyh4QzwXyZ4
D. line vty 0 15 p3ssword XD822j

Answer: A

Explanation:

cisco(config)#username test privilege 15 password test777 cisco(config)#do s running-config | include user

username test privilege 15 password O test777

cisco(config)#service password-encryption cisco(config)#do s running-config | include user
username test privilege 15 password 7 044FOE151B761B19 cisco(config)#
cisco(config)#do wr

Building configuration... [OK]

cisco(config)#

NEW QUESTION 21
- (Topic 4)
Refer to the exhibit.

Your Partner of IT Exam

visit - https://www.exambible.com



We recommend you to try the PREMIUM 350-401 Dumps From Exambible
exambible https://www.exambible.com/350-401-exam/ (747 Q&AS)

from ncclient import manager

netconf_host.clost_atssian{i

netconf host = manager.connect (host='ios-xe-example.com',

port=22,

usernames‘'cisco’,
password='cisco’,

hostkey verify=False,

device params=(‘name':'iosxe'})

print (netconf host.get config('running'))

An engineer deploys a script to retrieve the running configuration from a NETCONF- capable Cisco IOS XE device that is configured with default settings. The
script fails. Which configuration must be applied to retrieve the configurauon using NETCONF?

A. Print (netconf_host.get_config(‘'show running'l)
B. hostkey_verify=True,

C. device_params={name''ios-xe'})

D. port=830

Answer: A

NEW QUESTION 23

- (Topic 4)

Which JSON script is properly formatted?
A)

“"type”:"A New Book",
“"model™:"J Doe",
“yeoar—:"1"
)
B)
{
“host”:
{
“name”:"SwitchA,
“model”:"Catalyst”,
“serial”:"0438045649",
]
}
C)
{
“book™:[
{
“title":"A New Book,
“author™:"J P Doe",
“edition™:"2"
)
}
D)
{
“class™:{
“title":"Sclence"”,
“grade™:"11",
“location":"Room C".
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 28
- (Topic 4)
Which IP SLA operation requires the IP SLA responder to be configured on the remote end?

A. TCP connect
B. ICMP echo
C. ICMP jitter
D. UDP jitter

Answer: D
NEW QUESTION 32

DRAG DROP - (Topic 4)
Drag and drop the characteristics from the left onto the deployment model on the right.

[Coud
fves on Capital costs
provides full control of sensitve dats
fast deplovment of new senaces
Dn-Premses
improves senice Jvailablity by mupporting multiple YeAN
Connetvily oplions

A. Mastered
B. Not Mastered

Answer: A
Explanation:

CLOUD1 and 30ON-PREMISES2 and 4

NEW QUESTION 36
- (Topic 4)

interface GigabitEthernet1
ip address 10.10.10.1 255.255.255.0
[

access-list 10 permit 10.10.10.1

I

monitor session 10 type erspan-source
source interface Gi1

destination |

erspan-id 10
ip address 192.168.1.1

Refer to the exhibit. Which command filters the ERSPAN session packets only to interface GigabitEthernet1?
A. source ip 10.10.10.1

B. source interface gigabitethernetl ip 10.10.10.1

C. filter access-group 10

D. destination ip 10.10.10.1

Answer: C
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NEW QUESTION 39
DRAG DROP - (Topic 4)
Drag and drop the automation characteristics from the left onto the corresponding tools on the right. Not all options are used.

Puppet

basad on Python

proprietary syntax in configuration files based on Ruby

high availabiity offered through a multi-primary architecture Cher

Ruby syntax in configuration files

A. Mastered
B. Not Mastered

Answer: A
Explanation:

f Puppet
1 basad on Python '

proprietary syntax in configuration files based on Ruby

proprietary syntax in configuration files based on Huby high svalabiity o ORI aT

|
| high availability offered through a multi-primary architecture Cher

' Ruby syntax in configuration files
Rubry syntax in configuration files

NEW QUESTION 42

- (Topic 4)
P acoess-ist extended ACL -CoPP-Management
permit udp any eq nip any
permit udp any any &g snmp

permit iCp any any 8q 22
permit 1Cp any 8q 22 any éstabished

class-map maich-al CLASS CoPP Management
malch access-group name ACL-CoFP -Managemeant

Refer to the exhibit. An engineer must protect the CPU of the router from high rates of NTP, SNMP, and SSH traffic. Which two configurations must be applied to
drop these types of traffic when it continuously exceeds 320 kbps? (Choose two)

R 1 canlig wpolicy -map POLICY-CoPP

H 1canhy prracdciass CLASE-CoPP-Managemsnt
R 1{config-prmap-c dpolice 320000 conform-action transmil exceed-action transmit viclate-action drop

R 1{conf) weontrol-plane
R 1{config-cp W service-policy input POLICY-CoPP

K 1jcanhy-praodciass CLASS-CoPP-Management
R 1{config-pmap- #police 32 conform-action transmit exceed-action drop viokate-action transmit

R 1{canfig wcontrol-plane
R1{config-cp W service-policy output POLICY-CoPP

R 1{canfig @policy-map POLICY-CoPP
R 1{canfiy-prmac jéclass CLASS-CoPP-Management
R 1{canlig-prrap-c wpolice 320000 conform-action transmil exceed-action drop violate-action drop

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: BE

NEW QUESTION 47
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- (Topic 4)
What is the rose of the vSmart controller in a Cisco SD-WN environment?

A. it performs authentication and authorization

B. it manages the control plane.

C. it is the centralized network management system
D. it manages the data plane

Answer: B
NEW QUESTION 50

- (Topic 4)
What is the result of applying this access control list?

ip access-list extended STATEFUL

10 permit tcp any any established
20 deny ip any any

A. TCP traffic with the URG bit set is allowed
B. TCP traffic with the SYN bit set is allowed
C. TCP traffic with the ACK bit set is allowed
D. TCP traffic with the DF bit set is allowed

Answer: C

NEW QUESTION 51
- (Topic 4)

A wireless administrator must create a new web authentication corporate SSID that will be using ISE as the external RADIUS server. The guest VLAN must be

specified after the authentication completes. Which action must be performed to allow the ISE server to specify the guest VLAN?

A. Set AAA Policy name.
B. Enable AAA Override
C. Set RADIUS Profiling
D. Enable Network Access Control State.

Answer: C

NEW QUESTION 55
DRAG DROP - (Topic 4)

Drag and drop the characteristics from the left onto the orchestration tools that they describe on the right.

declarative ol
uses Ruby

uses Python KaltStack
procedural

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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N

| et
declarative 1
uses Ruby
- _— 1.:'
uses Ruby 'E procedural 1
L == = |
' uses Python | SaltStack
P | '
= e ' uses Pythan |
[ 1 | [
L procedural { 3
R T ——J declarative

NEW QUESTION 59
- (Topic 4)

In a Cisco StackWise Virtual environment, which planes are virtually combined in the common logical switch?

A. control, and forwarding
B. management and data
C. control and management
D. control and data

Answer: C

NEW QUESTION 60
SIMULATION - (Topic 4)
Simulation 04

OSPF Process 1D 1
'.\'|' (& ) :..I
Lol LoQ:
1.1.1.1 /32 2.2.2.2 /32

N i

EO/O EQ/0
1 2

192.168.0.0 /24

Guidelines Topology Tasks R1
3

Configure OSPF on both routers according to the topology

to achieve these goals

1. Ensure that all networks are advertised between the
routers without using the “network” statement under the
“router ospf’ configuration section

2. Configure a single command on both routers to ensure:

The DR/BDR election does not occur on the link
between the OSPF neighbors.
No extra OSPF host routes are generated

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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R1

Router ospf 1 Int loop0

Ip ospf 1 area O Int et0/0

Ip ospflarea0

Ip ospf network point-to-point Copy run start
R2

Router ospf 1 Int loop0

Ip ospf 1 area O Int et0/0

Ip ospf 1 area 0

Ip ospf network point-to-point Copy run start
Verification:-

NEW QUESTION 64
- (Topic 4)
Which TLV value must be added to Option 43 when DHCP is used to ensure that APs join the WLC?

A. OX77
B. AAA
C. Oxf1
D. 642

Answer: C

NEW QUESTION 69
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- (Topic 4)

Which collection contains the resources to obtain a list of fabric nodes through the vManage API?

A. device management
B. administration

C. device inventory

D. monitoring

Answer: C

Explanation:

The collection that contains the resources to obtain a list of fabric nodes through the vManage API is the device inventory collection. This collection can be
accessed through the Cisco Encor Documents and provides resources such as the Fabric Visualization, Device List, and Fabric Node Inventory APIs. These APIs

can be used to obtain information about the fabric nodes, such as the device inventory, status, and version.

NEW QUESTION 73
- (Topic 4)

+* ¥ +«*
= = -
Linux ¥ Switch unmanaged - switch =0 Switch2 Linux

Switchlishow ip int br

Interface IP-Address OR7? Hethod Status Protocol
GigabicEtharnetl 1%2.168.1.1 YES manual up up
GigabitEthernot2 172.16.40.10 ¥YES manual administratively down down
Loopbackd 172.16.10.10 YES manual up up
Switch? fshow ip int br

Intarface IP-Addreasa OR7? Method Status Pratocol
GigabitEthernetl 192.168.1.2 YES manual up up
GigabitEthernetl 172.16.20.10 YES manual up up
Locpbackl 10.10.10.10 YES manual up up

Switchl {config) fmonitor session 1 type erspan-source

Switchl (config-mon—-erspan—-arc) §source interface gigabitethernetl
Switchl (config-mon—-erspan-src) fdestination

Switchl {config-mon-ezspan—scc—dst) ferspan-id 110
Suitchl{cnnfig—mﬂn—arzpan—a:n—dst]tip address 10.10.10.10
Switchl (config-mon-erspan-src-dst) forigin ip address 172.16.10.10

Switch2 (config) monitor session 1 type erspan-destination

Switch2 (config-mon-erspan-dst) §destination interface Gigabitethernet?Z
Switchl (config-mon—-erspan=-dat) §aource

S8witchZ (config-mon-eraspan-dat=-arc) §
SwitchZ (config-mon-erspan-dst-src) fip address 10.10.10.10

Refer to the exhibit. An engineer must configure an ERSPAN tunnel that mirrors traffic from linux1 on Switchl to Linux2 on Switch2. Which command must be

added to the destination configuration to enable the ERSPAN tunnel?

A. (config-mon-erspan-dst-src)# origin ip address 172.16.10.10
B. (config-mon-erspan-dst-src)# erspan-id 172.16.10.10

C. (config-mon-erspan-dst-src)# no shut

D. (config-mon-erspan-dst-src)# erspan-id 110

Answer: D

NEW QUESTION 76
- (Topic 4)
Where is the wireless LAN controller located in a mobility express deployment?

A. There is no wireless LAN controller in the network.

B. The wireless LAN controller is embedded into the access point.

C. The wireless LAN controller exists in the cloud.

D. The wireless LAN controller exists in a server that is dedicated for this purpose.

Answer: B

NEW QUESTION 78
- (Topic 4)
Refer to the exhibit.
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AP 1 AP 2
— >
WLAN 10
172.160.100
SSID Guest
A Client 1

Both controllers are in the same mobility group. Which result occurs when client 1 roams between APs that are registered to different controllers in the same
WLAN?

A. Client 1 contact controller B by using an EolP tunnel.
B. CAPWAP tunnel is created between controller A and controller B.
C. Client 1 users an EolP tunnel to contact controller A.
D. The client database entry moves from controller A to controller B.

Answer: D

NEW QUESTION 81
- (Topic 4)
Based on the router's API output in JSON format below, which Python code will display the value of the “hostname" key?

{

"response”: [{
“family™: "Switches",
“macAddress”: "00:42:50:62:99:00",
“hostname”: “SwitchlDF14",
"upTime™: "352 days, 6:17:26:107,
“lastUpdated™: “2020-07-12 21:15:29"

)|

json_data = json.loads(response.text)
print(json_data[response][0][hostname])

json_data = json.loads(response.text)
print{json_data[response’]['family’][hostname’])

json_data = response.json{)
print(json_data[response’][0][ hostname’])

json_data = response json()
print(json_data[response’)[family][hostname’))

A. Option A
B. Option B
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C. Option C
D. Option D

Answer: B

NEW QUESTION 82
- (Topic 4)

An engineer must configure a new WLAN that allows a user to enter a passphrase and provides forward secrecy as a security measure. Which Layer 2 WLAN

configuration is required on the Cisco WLC?

A. WPA2 Personal
B. WPA3 Enterprise
C. WPA3 Personal
D. WPA2 Enterprise

Answer: C

NEW QUESTION 86
- (Topic 4)

R1#show ip bgp summary
BGP router identifier 1.1.1.1, local AS number 65001
BGP table version is 1, main routing table version 1

Neighbor \ AS MsgRecvd MsgSent TbiIVer InQ OutQ Up/Down State/PfxRed
192.168.12.2 4 65002 0 O 1 0 000:00:15 Idle

R1#show ip interface brief | include 192.168.12

FastEthernet0/0 192.168.12.1 YES NVRAM up up

R2#show ip bgp summary
BGP router identifier 2.2.2.2, local AS number 65002
BGP table version is 1, main routing table version 1

Neighbor \ AS MsgRcvd MsgSent TblVer InQ OutQ Up/Down State/PfxRed
192.168.12.1 4 65001 0 O 1 0 000:01:00 Idle (Admin)

R2#show ip interface brief | include 192.168.12

Ethernet0/0 192.168.12.2 YES NVRAM up up

R2#ping 192.168.12.1

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 192.168.12.1, timeout is 2 seconds:

Success rate is 100 percent (5/5), round-trip min/avg/max = 1/1/1 ms

Refer to the exhibit. R1 and R2 are directly connected, but the BGP session does not establish. Which action must be taken to build an eBGP session?

A. Configure ip route 1.1.1.1 0.0.0.0 192.168.12.1 on R2.

B. Configure neighbor 192.168.12.1 activate under R2 BGP process.

C. Configure neighbor 2.2.2.2 remote-as 65002 under R1 BGP process.
D. Configure no neighbor 192.168.12.1 shutdown under R2 BGP process.

Answer: D

NEW QUESTION 87
- (Topic 4)
When using BFD in a network design, which consideration must be made?

A. BFD is used with first hop routing protocols to provide subsecond convergence.
B. BFD is more CPU-intensive than using reduced hold timers with routing protocols.
C. BFD is used with dynamic routing protocols to provide subsecond convergence.
D. BFD is used with NSF and graceful to provide subsecond convergence.

Answer: C
NEW QUESTION 91

- (Topic 1)
Refer to exhibit.

SWi1

VLANSs 50 and 60 exist on the trunk links between all switches All access ports on SW3 are
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configured for VLAN 50 and SW1 is the VTP server Which command ensures that SW3 receives frames only from VLAN 50?

A. SW1 (config)#vtp pruning

B. SW3(config)#vtp mode transparent
C. SW2(config)=vtp pruning

D. SW1 (config >»vtp mode transparent

Answer: A

Explanation:

SW3 does not have VLAN 60 so it should not receive traffic for this VLAN (sent from SW2).
Therefore we should configure VTP Pruning on SW3 so that SW2 does not forward VLAN 60 traffic
to SW3. Also notice that we need to configure pruning on SW1 (the VTP Server), not SW2.

NEW QUESTION 94
- (Topic 1)
Which method should an engineer use to deal with a long-standing contention issue between any two VMs on the same host?

A. Adjust the resource reservation limits
B. Live migrate the VM to another host
C. Reset the VM

D. Reset the host

Answer: A

NEW QUESTION 95
- (Topic 2)
In a Cisco StackWise Virtual environment, which planes are virtually combined in the common logical switch?

A. management and data
B. control and management
C. control, and forwarding
D. control and data

Answer: B

NEW QUESTION 99
- (Topic 2)
What is a characteristic of Cisco StackWise technology?

A. It uses proprietary cabling

B. It supports devices that are geographically separated
C. It combines exactly two devices

D. It is supported on the Cisco 4500 series.

Answer: C
NEW QUESTION 100

DRAG DROP - (Topic 2)
Drag and drop the characteristics from the left onto the routing protocols they describe on the right

FIGRP
cost-based metn
Dual Diffusing Update algorithm
metrics are bandwickth, delay, relability, load, ard MTU O%EF
Dijiktra algorithm

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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[T e s e FIGRP
cost-based metnc '

metncs are bandesdth, delay, relability, load, and FTL

Dual Diffusing Update algarithm

||

Dual Diffusing Update algarithm

t metrics are bandoidth, delay, relability, load, and MTU |

1

l cost-based metne

i Dijiktra algorithm

NEW QUESTION 104
- (Topic 2)
Why is an AP joining a different WLC than the one specified through option 437

A. The WLC is running a different software version.

B. The APl is joining a primed WLC

C. The AP multicast traffic unable to reach the WLC through Layer 3.

D. The APs broadcast traffic is unable to reach the WLC through Layer 2.

Answer: B

NEW QUESTION 107
- (Topic 2)
Which NGFW mode block flows crossing the firewall?

A. Passive
B. Tap

C. Inline tap
D. Inline

Answer: D

Explanation:

Firepower Threat Defense (FTD) provides six interface modes which are: Routed, Switched, Inline Pair, Inline Pair with Tap, Passive, Passive (ERSPAN).When
Inline Pair Mode is in use, packets can be blocked since they are processed inline When you use Inline Pair mode, the packet goes mainly through the FTD Snort
engine When Tap Mode is enabled, a copy of the packet is inspected and dropped internally while the actual traffic goes through FTD unmodified

NEW QUESTION 112

- (Topic 2)

AN engineer is implementing a route map to support redistribution within BGP. The route map must configured to permit all unmatched routes. Which action must
the engineer perform to complete this task?

A. Include a permit statement as the first entry
B. Include at least one explicit deny statement
C. Remove the implicit deny entry

D. Include a permit statement as the last entry

Answer: D

NEW QUESTION 114

- (Topic 2)

Refer to the exhibit.

vlian 222
remote-span

1

vlan 223
remote-span

|

monitor session
monitor session
monitor session
monitor session
1

source interface FastEthernet0/1 tx
source interface FastEthernet0/2 rx
source interface port-channel 5
destination remote wvlan 222

el e

What is the result when a technician adds the monitor session 1 destination remote vlan 223 command1?

A. The RSPAN VLAN is replaced by VLAN 223.
B. RSPAN traffic is sent to VLANs 222 and 223
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C. An error is flagged for configuring two destinations.
D. RSPAN traffic is split between VLANs 222 and 223.

Answer: A

NEW QUESTION 116
- (Topic 2)
What does a northbound APl accomplish?

A. programmatic control of abstracted network resources through a centralized controller
B. access to controlled network resources from a centralized node

C. communication between SDN controllers and physical switches

D. controlled access to switches from automated security applications

Answer: A
NEW QUESTION 118

DRAG DRORP - (Topic 2)
Drag and drop the tools from the left onto the agent types on the right.

—
| Puppect I

Ansiblc

SaltSrack Bt hims

A. Mastered
B. Not Mastered

Answer: A
Explanation:

Puppct
:I_______:“"i"’ ______ _I'I | SamStack
. sokse | | P
S e e S e S e Araiblc

NEW QUESTION 121
- (Topic 2)
Which technology does VXLAN use to provide segmentation for Layer 2 and Layer 3 traffic?

A. bridge domain
B. VLAN

C.VRF

D. VNI

Answer: D

Explanation:
VXLAN has a 24-bit VXLAN network identifier (VNI), which allows for up to 16 million (= 224) VXLAN segments to coexist within the same infrastructure. This
surely solve the small number of traditional VLANS.

NEW QUESTION 126
- (Topic 2)
When are multicast RPs required?

A. RPs are required only when using protocol independent multicast dense mode.

B. By default, the RP is needed penodically to maintain sessions with sources and receivers.
C. RPs are required for protocol Independent multicast sparse mode and dense mode.

D. By default, the RP Is needed only start new sessions with sources and receivers.

Answer: D

NEW QUESTION 129
DRAG DROP - (Topic 2)
Drag and drop the characteristics from the left onto the routing protocols they describe on the right.
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EIGRP

The defaul Administrative Distance s equal to 110,

It reqguires an Autonomous System number to
create a routing instance for exchanging routing information.

It uses virtual links to connect two parts of a partitioned
backbone through a non-backbone anea.

It is an Advanced Distance Vector routing protocol,

It rebies on the Diffused Update Algorithm to calculate the
shortest path to a destination.

It requires a process [D that is local to the
router.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

EIGRP

|
The defaul Administrative Distance is equal to 110. i
It requires an Autonomous Systéem number to

create a routing instance for exchanging routing information.

It requires an Autonomous System number to I
create a routing instance for exchanging routing information. |
e R e e o A A R Sl ety o i o B It 15 an Advanced Distance Vector routing protocol,

It uses virtual links to connect two parts of a partitioned

backbone through a non-backbone area. It relies on the Diffused Update Algorithm to caleulate the
shortest path to a destination.
It is an Advanced Distance Vector routing protocol.
oser
It relies on the Diffused Update Algorthm to calculate the
Shortest path b0 §:0 irkig The default Administratrve Distance i equal to 110, ‘

It requires a process 1D that is local to the It uses virtual links to connect two parts of a parttioned
router, backbone through a non-backbone area.

router,

It requires a process [D that is local to the ‘

NEW QUESTION 131
- (Topic 2)
Refer to the exhibit.

enable secret cisco

username cisco privilege 15 secret cisco

aaa new-model
aaa authentication login default group radius local
aaa authorization network defauit group radius

The network administrator must be able to perform configuration changes when all the RADIUS servers are unreachable. Which configuration allows all commands
to be authorized if the user has successfully authenticated?

A. aaa authorization exec default group radius none
B. aaa authentication login default group radius local none
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C. aaa authorization exec default group radius if-authenticated
D. aaa authorization exec default group radius

Answer: C

NEW QUESTION 134
- (Topic 2)
Refer to the exhibit.

0 packets, 0 bytes
5 minute offered rate 0000 bps, drop rate 0000 bps
Match: access-group name SNMP
police:
cir 8000 bps, bc 1500 bytes
conformed O packets, 0 bytes; actions:
transmit
exceeded 0 packets, 0 bytes; actions:
drop
conformed 0000 bps, exceeded 0000 bps

Class-map: class-default (match-any)
13858 packets, 1378745 bytes

5 minute offered rate 0000 bps, drop rate 0000 bps
Match: any

How does the router handle traffic after the CoPP policy is configured on the router?

A. Traffic coming to R1 that does not match access list SNMP is dropped.
B. Traffic coming to R1 that matches access list SNMP is policed.

C. Traffic passing through R1 that matches access list SNMP is policed.
D. Traffic generated by R1 that matches access list SNMP is policed.

Answer: C

NEW QUESTION 136
- (Topic 2)
What is required for a virtual machine to run?

A. a Type 1 hypervisor and a host operating system
B. a hypervisor and physical server hardware

C. only a Type 1 hypervisor

D. only a Type 2 hypervisor

Answer: B

NEW QUESTION 138
- (Topic 2)
What is the function of a control-plane node In a Cisco SD-Access solution?

A. to run a mapping system that manages endpoint to network device relationships
B. to implement policies and communicate with networks outside the fabric

C. to connect external Layer 3 networks to the SD-Access fabric

D. to connect APs and wireless endpoints to the SD-Access fabric

Answer: A

NEW QUESTION 139

- (Topic 2)

A customer wants to provide wireless access to contractors using a guest portal on Cisco ISE. The portal Is also used by employees A solution is implemented, but
contractors receive a certificate error when they attempt to access the portal Employees can access the portal without any errors. Which change must be
implemented to allow the contractors and employees to access the portal?

A. Install a trusted third-party certificate on the Cisco ISE.

B. Install an Internal CA signed certificate on the contractor devices
C. Install an internal CA signed certificate on the Cisco ISE

D. install a trusted third-party certificate on the contractor devices.
Answer: C

NEW QUESTION 143

- (Topic 2)

Which element enables communication between guest VMs within a virtualized environment?

A. hypervisor
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B. vSwitch
C. virtual router
D. pNIC

Answer: B

NEW QUESTION 144
DRAG DROP - (Topic 2)
Drag and drop characteristics of PIM dense mode from the left to the right.

e R

A. Mastered
B. Not Mastered

Answer: A
Explanation:

PIM-DM supports only source trees — that is, (S,G) entries—and cannot be used to build a shared distribution tree.

NEW QUESTION 148
- (Topic 2)
Refer to the exhibit:
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duplex full

vrep 1 priority 110

end

R1#show running-config interface fa0/0
Building configuration...

Current configuration: 192 bytes

interface FastEthernet0/0
ip address 192.68.3.5 255.255.255.0

vrrp 1 ip 192.168.3.1
vrrp 1 authentication text cisco

vrrp 1 track 20 decrement 20

R1#show running-config | include track 20
track 20 ip route 10.10.1.1 255.255.255.255 reachability

duplex full

end

R2#show running-config interface fa0/0
Building configuration...

Current configuration: 141 bytes

interface FastEthernet0/0
ip address 192.68.3.2 255.255.255.0

vrrp 1 ip 192.168.3.1
vrrp 1 authentication text cisco

An engineer configures VRRP and issues the show commands to verify operation. What does the engineer confirm about VRRP group 1 from the output?

A. There is no route to 10.10.1.1/32 in R2’s routing table

B. If R1 reboots, R2 becomes the master virtual router until R2 reboots
C. Communication between VRRP members is encrypted using MD5
D. R1is primary if 10.10.1.1/32 is in its routing table

Answer: D

NEW QUESTION 153
- (Topic 2)
Refer to the exhibit.

Eouterld

snterface Tunneld
end

Fouterlishow ip int br
Interface
GigabitEtharnstD/D
GigabitEthernet0/1
GigabitEthernst0/2
GigabitEtharnetD/3
Loophack(

Tunnell

Routerl)

Routerlishow run int tunnsl 0
Bullding configuration. ..

Current configuration 1 95 bytea

ip address 172.16.1.1 235.255.255.0
tunnael destination 192.168.10.2

IF-hildreas ORT Method IStatus Protocol
1%2.168.1.1 YED manual up up
unassigned YES unset adninistratively down dowm
CLTETRET T | YES unmet -&ihi-lrlliinlr down down
unasaigned YE3 unset administratively down down
192.168.10.1 YER manual up up
172.16.1.1 YES manual up down

Which command must be applied to Router 1 to bring the GRE tunnel to an up/up state?

A. Routed (config if funnel mode gre multipoint

B. Routerl(config-if)&tunnel source Loopback0

C. Routerl(config-if)y#tunnel source GigabitEthernet0/1
D. Routerl (config)#interface tunnelO
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Answer: B

NEW QUESTION 156
DRAG DRORP - (Topic 2)

Drag and drop the descriptions from the left onto the routing protocol they describe on the right.

OSPF
summansas can be created anywhere in the [GP topology
uSEs aréas o S-EQF"-E""IE 3 MeEtwork
= = .
summanes can be created n spaaific pans of the 1GP topology EIGRP
A. Mastered
B. Not Mastered
Answer: A
Explanation:
OSPF

summanss can be created amypwhere in the [GP topology

S

USSS ansas o SEgment 3 Network

sumimanes can be created anyvwhere in the [GP topoloay

LiGES Areats 10 Segment a nehwork

. . " . . | -

summanss can be created n spacfic pans of the 1GP topolagy

NEW QUESTION 158
- (Topic 2)

EIGRP
I |

| summanes can be created in specific parts of the [GP topology |
i i

Which feature does Cisco TrustSec use to provide scalable, secure communication throughout a network?

A. security group tag ACL assigned to each port on a switch

B. security group tag number assigned to each port on a network
C. security group tag number assigned to each user on a switch
D. security group tag ACL assigned to each router on a network

Answer: B

Explanation:

Cisco TrustSec uses tags to represent logical group privilege. This tag, called a Security Group Tag (SGT), is used in access policies. The SGT is understood and

is used to enforce traffic by Cisco

switches, routers and firewalls . Cisco TrustSec is defined in three phases: classification, propagation and enforcement.

When users and devices connect to a network, the network assigns a specific security group. This
process is called classification. Classification can be based on the results of the authentication
or by associating the SGT with an IP, VLAN, or port-profile (-> Answer 'security group tag ACL assigned to each port on a switch' and answer 'security group tag

number assigned to each

user on a switch' are not correct as they say “assigned ... on a switch” only. Answer 'security group
tag ACL assigned to each router on a network' is not correct either as it says “assigned to each

router”).

NEW QUESTION 160
- (Topic 2)
Refer to the exhibit.

Rl¥show

ogp SUm

il L}

s a D o w a

=Tl - P i A= - i - B - " - " [ m . TR - 3
BGP routsr idsntifier 1l.1.1.1, local AS number &§5001

Which command set changes the neighbor state from Idle (Admin) to Active?

A)

R1(config)#router bgp 65002

R1(config-router#neighbor 192.168.50.2 activate
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B)

R1(config)=router bgp 65001
R1(config-router #neighbor 192.168.50.2 activate

C)
R1(configy¥router bgp 65001
R1(config-router#no neighbor 192.168.50.2 shutdown

D)

R1(config=router bgp 65001
R1(config-router #neighbor 192.168.50.2 remote-as 65001

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 161

- (Topic 2)

Which action is performed by Link Management Protocol in a Cisco StackWise Virtual domain?
A. It rejects any unidirectional link traffic forwarding

B. It determines if the hardware is compatible to form the StackWise Virtual domain

C. discovers the StackWise domain and brings up SVL interfaces.

D. It determines which switch becomes active or standby

Answer: A

Explanation:

Reference: https://www.cisco.com/c/en/us/products/collateral/switches/catalyst-9000/nb- 06-cat-9k-stack-wp-cte-en.html

NEW QUESTION 164
- (Topic 2)
Refer to the exhibit.

10.3%.1.0/30

10.1.65.0/30

ISP#HZ#E

Jan 4 11:34:10.819: %TCP-6-BADAUTH: No MDS digest from 10.1.65.2(179) to 10.1.65.1(59608) tableid - 0
Jan 4 11:34:10.847: %BGP-5-ADJCHANGE: neighbor 10.33.1.1 Up

Jan 4 11:34:12.831: %TCP-6-BADAUTH: No MDS5 digest from 10.1.65.2(179) to 10.1.65,1(58608) tableid - O
Jan 4 11:34:12.838: %TCP-6-BADAUTH: No MDS digest from 10.1.65.2(179) to 10.1.65.1(58608) tableid - 0
Jan 4 11:34:22 271 %TCP-6-BADAUTH: No MDS digest from 10.1.65.2(61827) to 10.1.65.1(179) tableid - 0
Jan 4 11:34:24 250: %TCP-8-BADAUTH: No MDS digest from 10.1.65.2(61827) to 10.1.65.1(179) tableid - O
Jan 4 11:34:26 187 %TCP-6-BADAUTH: No MD5 digest from 10.1.65.2(179) to 10.1.65.1(312686) tableid - 0

An engineer attempts to establish BGP peering between router CORP and two ISP routers. What is the root cause for the failure between CORP and ISP#2?

A. Router ISP#2 is configured to use SHA-1 authentication.

B. There is a password mismatch between router CORP and router ISP#2.
C. Router CORP is configured with an extended access control list.

D. MD5 authorization is configured incorrectly on router ISP#2.

Answer: B

NEW QUESTION 166
- (Topic 2)
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nr:

wri definition hotel
address -family ipA
exit-address-Taml by

wrf definition bhank
address -fasily ipw

&Eﬂ?‘ﬂ Eﬂfﬂ% LAN . exit-address-family
vrf bank

interface Lthernetl/D
ED.-’I l?2+15|-u11 _',r" ‘hlf‘ﬂ‘w bﬂ*

ip address 172.16.0.4 255.755.0.0

E0/0
“ interface Cthernetl/l
R3 wrf forwarding hotel
vrf hotel ip address 172.1.0.5 255.255.0.0

router oipl 42 vl bark
router-id 1.1.1.1
metwork 172.16.0.0 0.0.255.255 area 0

router ospf 4) wrf hotel
router-id 3.3.3.3
netwerk 172.16.0.0 0.0, 75%.2%% area 0

Rl:
wirl definition bank

address -family 1ipwl
enit-address-Tami ly

Refer to the exhibit. Which configuration must be applied to R1 to enable R1 to reach the server at 172.16.0.1?

interface EthernetO0
vrf forwarding hotel
ip address 172.16.0.7 25625500

router ospf 44 vrf Hotel
network 172.16.0.0 0.0,.25656.255 area 0

interface EthernetOl0
ip address 172.16.0.7 266.266.0.0

router ospf 44 vrf hotel
network 172.16.0.0 266 26§00

interface EthernetO0
ip address 172.16.0.7 26§.266.0.0

router ospf 44 vif bank
network 172.16.0.0 266§ 25500

interface EthernetO0
vrf forwarding bank
ip address 172.16.0.7 266 25600

router ospf 44 vif bank
network 172.16.0.0 0.0.255.255 area 0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 169
DRAG DROP - (Topic 2)
Drag and drop the characteristics from the left onto the infrastructure deployment models they describe on the right.
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Chr-Fremses
casy to scale the capacity up and down
infrastructure requires large and regular investments
highly agile Floud
highly customizable

A. Mastered
B. Not Mastered
Answer: A
Explanation:

I ——— Ep——

| casy to scale the capacity up and down J -

——— infrastructure requires large and regular ineestments
== == e o e e e e e e e e mem e

highly suztomizable

il

s = @ e . W WS W WSS W W WS WS w—.
= = = = = = = = = = = = casy to scale the copacity up and down [

e s 5 e e i i s
highly agilc

NEW QUESTION 173

- (Topic 2)

Which two actions, when applied in the LAN network segment, will facilitate Layer 3
CAPWAP discovery for lightweight AP? (Choose two.)

A. Utilize DHCP option 17.

B. Configure WLC IP address on LAN switch.

C. Utilize DHCP option 43.

D. Configure an ip helper-address on the router interface
E. Enable port security on the switch port

Answer: CE

Explanation:
Reference: https://www.cisco.com/c/en/us/support/docs/wireless/5500-series-wireless- controllers/119286-lap-notjoin-wlc-tshoot.html

NEW QUESTION 175
- (Topic 2)
What is one primary REST security design principle?

A. fail-safe defaults

B. password hash

C. adding a timestamp in requests
D. OAuth

Answer: A
Explanation:

Reference: https://yurisubach.com/2017/04/04/restful-api-security-principles/“Fail-safe defaultsAccess to any resource (like API endpoint) should be denied by
default. Access granted only in case of specific permission.

NEW QUESTION 176
- (Topic 2)
Which protocol infers that a YANG data model is being used?

A. SNMP

B. NX-API

C. REST

D. RESTCONF

Answer: D
Explanation:

YANG (Yet another Next Generation) is a data modeling language for the definition
of data sent over network management protocols such as the NETCONF and RESTCONF.
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NEW QUESTION 180

- (Topic 2)

Refer to the exhibit.

Switch1# show interfaces trunk

| Output omitted for brevity

Port Mode Encapsulation Status Native
Gi1/0/20 auto 802 .1q trunking 10

Port Vians aliowed on trunk

Gi1/0/20 1-4094

Switch2# show interfaces trunk
| Output omitted for brevity

Port Mode Encapsulation Status Native

Gi1/0/20 auto 802.1q trunking 10

Port Vians aliowed on trunk

GI1/0/20 1-4094

The trunk does not work over the back-to-back link between Switchl interface Gig1/0/20 and Switch2 interface Gig1/0/20. Which configuration fixes the problem?

A)
Switch1(config)#interface gig1/0/20
Switch1(config-if)#switchport mode dynamic auto

B)

SwitchZ2(config)Zinterface gig1/0/20
SwitchZ(config-if)zswitchport mode dynamic desirable

C)

Switch1(config)%interface gig1/0/20
Switch1(config-if)#switchport trunk native vian 1
Switch2(config)#interface gig1/0/20
Switch2(config-ifj#switchport trunk native vian 1

D)

Switch2(config)#interface gig1/0/20
Switch2(config-if)¥switchport mode dynamic auto

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 182
DRAG DROP - (Topic 2)

Drag and drop the characteristics from the left onto the deployment models on the right.

long implementation timeframe

Cloisd

an-demand self-sarvice

offers complex customization
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

bgimpemenitiontinelrame: @ 0| W T e e

I long implementation tmeframe
offers complex custonization

offers complex customization

NEW QUESTION 187
- (Topic 2)

An engineer must create an EEM applet that sends a syslog message in the event a change happens in the network due to trouble with an OSPF process. Which

action should the engineer use?

event manager applet LogMessage
event routing network 172.30.197.0/24 type all

A. action 1 syslog msg "OSPF ROUTING ERROR"
B. action 1 syslog send "OSPF ROUTING ERROR"
C. action 1 syslog pattern "OSPF ROUTING ERROR"
D. action 1syslog write "OSPF ROUTING ERROR"

Answer: C

NEW QUESTION 189
- (Topic 2)
Refer to the exhibit.

>>> netconf data["GigabitEthernet”][0]["enabled"
u'false’

>>> netconf data["GigabitEthemet”][1]["enabled™
u'true’

>>> netconf_data["GigabitEthernet”)[2]["enabled"
u'false’
>>> netconf_data["GigabitEthemet”)[0)["description”]
u'my description’

Which Python code snippet prints the descriptions of disabled interfaces only?
A)

for interface in netconf_data["GigabitEthernet"].
if interface["disabled"] 1= "true’
print(interface["description™])

B)

for interface in netconf_data["GigabitEthernet"].
print(interface["enabled”))
print(interface["description”])

C)
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for interface in netconf_data["GigabitEthernet"]:
if interface["enabled"] I= 'false’:
print(interface["description”])

D)

for interface in netconf_data["GigabitEthernet”]
if interface["enabled”] I= "true’
print(interface["description”])

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 194

- (Topic 2)

An engineer is configuring a new SSID to present users with a splash page for authentication. Which WLAN Layer 3 setting must be configured to provide this
functionally?

A. CCKM

B. WPA2 Policy
C. Local Policy
D. Web Policy

Answer: D

NEW QUESTION 195
- (Topic 2)
Which two GRE features are configured to prevent fragmentation? (Choose two.)

A. TCP MSS

B. PMTUD

C. DF bit Clear

D. MTU ignore
E.IPMTU

F. TCP window size

Answer: AE

Explanation:
The ip tcp adjust-mss only affects TCP streams, Other kinds of IP traffic - UDP. SCTR, DCCP, ICMP. ESP, AH, to name just a few -
won't be influenced by the ip tep adjust-mss command, and so their datagrams must be fragmented at the IP layer. That's why it is
necessary 10 property configure the ip miu command to let the router know how large the fragments of non-T1CP-carmying P packets
can be

NEW QUESTION 200
- (Topic 2)
Refer to the exhibit.
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R1% sh run | begin ine con
line con o
exec-timeout 0 0
privilege level 15
logging synchronous
stopbits 1
line aux o
exac-timaout 0 0
privilege level 15
logging synchronous
stopbils 1
line vty O 4
password 7 045802150C2E
login
ne vty 5 15
password 7 045802150C2E
login
I
end

R1# sh run Ihlnclude aaa | enable

no aaa new-model
R1#

Which privilege level is assigned to VTY users?

OO0 w>
N N e

3
5
Answer: A

Explanation:
Lines (CON, AUX, VTY) default to level 1 privileges.

NEW QUESTION 204
- (Topic 2)
Refer to the exhibit.

Fa0/7
LAN Network
e 1 72.30.30.0/°30

1 —
R s >

R1(config)®ipsial

R1(config-ip-sia)micmp-echo 172.20.20.2 source-interface FastEthernet0/0
R1(config-ip-sla-echoj#timeout 5000

R1(config-ip-sla-echo)#frequency 10

R1|config-ip-sla-echo)¥threshold 500

R1(config)®ip sla schedule 1 start-time now life forever

R1{config)wtrack 10 ip sla 1 reachability

R1{config)¥ip route 0.0.0.0 0.0.0.0 172.20.20.2 track 10

R1(config)#no ip route 0.0.0.0 0.0.0.0 172.20.20.2

R1{config]®ip route 0.0.0.0 0.0.0.0 172.30.30.2 5

T 30
5 e G
) H _-.-'-'--’“'1;-_-;:- . i \\_‘

-.__:;_;_-___ | It ey vt
h T—— /
S~

"3

What are two reasons for IP SLA tracking failure? (Choose two )
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A. The destination must be 172 30 30 2 for icmp-echo
B. A route back to the R1 LAN network is missing in R2.
C. The source-interface is configured incorrectly.

D. The default route has the wrong next hop IP address
E. The threshold value is wrong

Answer: BE

NEW QUESTION 207

- (Topic 2)

A customer wants to use a single SSID to authenticate 0T devices using different passwords. Which Layer 2 security type must be configured in conjunction with
Cisco ISE to achieve this requirement?

A. Fast Transition

B. Central Web Authentication

C. Cisco Centralized Key Management
D. Identity PSK

Answer: D

NEW QUESTION 211
- (Topic 2)
Refer to the exhibit.

I GO
il 1Y . ¥
ol GO/

T

1 Fasd 5B

After an engineer configures an EtherChannel between switch SW1 and switch SW2, this error message is logged on switch SW2.

.r.‘- . Sl i R DAL chasasel amscontg oo deteciod on Ceel Pttirgg el o o7 -hsabee stato

'!': { v omp iy 4 FRET O AR § i wnd rrasc Ny errod dettec oo o Ll 1. puttmdg Gel 1 my e -chisalide st

Based on the output from SW1 and the log message received on Switch SW2, what action should the engineer take to resolve this issue?

A. Configure the same protocol on the EtherChannel on switch SW1 and SW2.
B. Connect the configuration error on interface GiO/1 on switch SW1.

C. Define the correct port members on the EtherChannel on switch SW1.

D. Correct the configuration error on interface Gi0/0 switch SW1.

Answer: A

Explanation:

In this case, we are using your EtherChannel without a negotiation protocol. As a result, if the opposite switch is not also configured for EtherChannel operation on
the respective ports, there is a danger of a switching loop. The EtherChannel Misconfiguration Guard tries to prevent that loop from occuring by disabling all the
ports bundled in the EtherChannel.

NEW QUESTION 216
- (Topic 2)
What do Cisco DNA southbound APIs provide?

A. Interface between the controller and the network devices
B. NETCONF API interface for orchestration communication
C. RESful APl interface for orchestrator communication

D. Interface between the controller and the consumer

Answer: A

Explanation:
The Southbound API is used to communicate with network devices.
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SDN Applications

I Northbound API

Controllers

I Southbound API

‘ Network Elements

NEW QUESTION 217
- (Topic 2)
What Is a Type 2 hypervisor?

A. installed as an application on an already installed operating system

B. runs directly on a physical server and includes its own operating system

C. supports over-allocation of physical resources

D. also referred to as a "bare metal hypervisor" because it sits directly on the physical server

Answer: A
NEW QUESTION 221

- (Topic 2)
Refer to the exhibit_.

Hello due in )0:07
Supports Link-local Signaling (LLS)
Cisco NSF helper support enabled
IETF NSF helper support enabled
Index 1/2/2, flocd gueue length C
Next Ox0(0)/0x0(0)/0x0(0)

- » ¥ - - K EEEX £ -~
Last flood scan length i3 0, maximum is 0

Last flood scan timée 15 1 msec, maximum 15 1 msec
Neighbor Count is 0, Adjacent neighbor count is (
Suppress hello for 0 neighbor (s)

An engineer configures OSPF and wants to verify the configuration Which configuration is applied to this device?
A)

R1(config)#router ospf 1
R1(config-router)#network 192.168.50.0 0.0.0.255 area 0

B)

R1(config)%router ospf 1
R1(config-router)#network 0.0.0.0 0.0.0.0 area 0
R1(config-router)¥no passive-interface Gi0/1

C)

‘R1(config)#interface Gi0/1
R1(config-if)#ip ospf enable
R1(config-if)#ip ospf network broadcast
R1(config-ify¥no shutdown

D)
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R1(config)¥interface Gi0/1
R1(config-if)#ip ospf 1 area 0
R1(config-if)2no shutdown

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 224
- (Topic 2)
Which antenna type should be used for a site-to-site wireless connection?

A. Omnidirectional
B. dipole

C. patch

D. Yagi

Answer: D

Explanation:
Yagi Antenna

L]

Used to communicate in one direction (unidirectional)

They have a longer range in comparison to Omni Antennas

Typically only communicate with one other radio, however can talk to multiple
More common to see used in remote locations

L]

Graphical user interface, text Description automatically generated

NEW QUESTION 228

- (Topic 2)

A network monitoring system uses SNMP polling to record the statistics of router interfaces The SNMP queries work as expected until an engineer installs a new
interface and reloads the router After this action, all SNMP queries for the router fail What is the cause of this issue?

A. The SNMP community is configured incorrectly

B. The SNMP interface index changed after reboot.

C. The SNMP server traps are disabled for the interface index
D. The SNMP server traps are disabled for the link state.

Answer: B

NEW QUESTION 232
- (Topic 2)
Refer to the exhibit.

Person#1:

First Name is Johnny
Last Name is Table
Hobbies are:

* Running

* Video games

Person#2:

First Name is Billy
Last Name is Smith
Hobbies are:

« Napping

« Reading

Which JSON syntax is derived from this data?
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A)

{[{First Name'": ‘Johnny’, ‘Last Name" Table’, ‘Hobbies': [Running’, Video gamesT}, {First Name': 'Billy', ‘Last Mame”. 'Smith’, "Hobbies'
[Napping', ‘Reading’]}]}

B)

[Person': [{First Mame”: 'Johnny', ‘Last Name" Table’, Hobbies': "Running’, Video games’), [First Name': "Bily’, 'Last Name': "Smith’, 'Habbies’
‘Mapping’, "Reading}])

©)

([[First Name" *Johnny', ‘Last Name'. Table’, "Hobbies" ‘Running’, 'Hobbies" "Video games'}, [First Name' "Billy', 'Last Name'. 'Smith’,
'Hebbies': 'Napping', 'Hobbees': "‘Reading'])

D)

[Person™ [[First Name' “Johnny', 'Last Name" Table’, 'Hobbies” [Running’, Video gamesT}, [First Name" ‘Billy’, "Last Name". "Smith’
"Hobbies" [Mapping', 'Reading[j])

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D
NEW QUESTION 237

- (Topic 2)
Refer to the exhibit.

Dal lasishow ip route sl
1 LERAr)E in suboetted, 1 subnets
' 1] LAY [11e/4eeel] wia 192,160, 4.5, 32018, PastEibermetd/d
IA 192, 160.0.0724 (1187045505 ] win 192,060.4.3, BO:ad:29, FeatEtmernstd/d
192.168. 1.024 (110060008 vis 192.168.4.3, Be:a4:29. FastEtrernetise
192,168, 2. 0024 [100/08000) wia 192.168.4.3, M:84:29, FastEthernetidsid
192188, 0. 0004 (LD a40dl| via 192.188.4.0, M:ad: 29, FastEthernetBd

Ia
Ia
A
| Lanr

0
0
o

1 B
D

e

Which command when applied to the Atlanta router reduces type 3 LSA flooding into the backbone area and summarizes the inter-area routes on the Dallas

router?

A. Atlanta(config-route)#area 0 range 192.168.0.0 255.255.248.0
B. Atlanta(config-route)#area 0 range 192.168.0.0 255.255.252.0
C. Atlanta(config-route)#area 1 range 192.168.0.0 255.255.252.0
D. Atlanta(config-route)#area 1 range 192.168.0.0 255.255.248.0

Answer: C

NEW QUESTION 238
- (Topic 2)
Refer to the exhibit.

172.27.206.0/. 2: 10.165.231.0/24 10.250.176.0/24
P . a9 ==
Gi0/2 1 GID/O Gi/0 Gi0/1
SW1 :
sSw3 sSw2

To9

OSPF area O g
PID 1

[
'—E"!'.:"ﬂ. : G2
172.24.206.0/24 172.30.110.0/24

=

a5

CR2 and CR3 ate configured with OSPF. Which configuration, when applied to CR1. allows CR1 to exchange OSPF Information with CR2 and CR3 but not with

other network devices or on new Interfaces that are added to CR1?
A)
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router ospf 1
network 0.0.0.0 255.255.255.255 area O
passive-interface GigabitEthernet0/2

B)

router ospf 1
network 10.165.231.0 0.0.0.255 area 0
network 172.27.206.0 0.0.0.255 area O
network 172.24.206.0 0.0.0.255 area O

C)

interface GiO/2
ipospflareaO

router ospf 1
passive-interface GigabitEthernetQ/2

D)

router ospf 1

network 10.0.0.0 0.255.255.255 area O
network 172.16.0.0 0.15.255.255 area O
passive-interface GigabitEthernet0/2

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 242
DRAG DROP - (Topic 2)

Drag and drop the characteristics from the left onto the infrastructure deployment models on the right.

On-Premises
Costs fior this model are considersd CapEx.
This model Improves elasticty of resources.
Thiz model enables complete control of the servers, Goud
This model reduces management overhead by leveraging
provider-managed resources.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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[ I

Costs for this model are considerad CapEx. S s e
: I This model enables complete control of the servers,

Costs for this model are considered CapEa

This model reduces management overhead by leveraging

| This model reduces management overhead by leveraging PIRVCRCTHEIADU [SWNTRS.
provider-managed resources,

This model Improves elasticity of resources,

NEW QUESTION 246

DRAG DROP - (Topic 2)

Drag and drop the snippets onto the blanks within the code to construct a script that configures BGP according to the topology. Not all options are used, and some
options may be used twice.

<oonfiy ERLRS ! Ro="urs:ietf parans  Eml ne setoonl base:l. 0" Emlns="urs: iebl: paress =sl ) ns - sstoonf basscl. 0%
<hative Emlass"http: S cilico. con/nin/yang Cloco-[08-XE-pative” mlas: lei-bBgps*hutp: //elsco. con/hi/yasg / Clics - 108-XE-kqp~>
arouters
< hod-bap  bype
Chan=lgpia # Lon ~bgp: Ld»
ol -l L
Cion=bgp: Ld» i I £/ pE-Eagp: Ld

fioa-bgp: rescte- L8> E I:'J:."-b“:_:.aur
</ hon-bap: nalghbor>

<iot-byp  address - fami ly> ﬂ- '-
cion-bgp:no-vr > Chant 17
<iom =bgp: ipvd> P12 Ve 1 2 iP: 192,188 1.1
<108 ~bgp: af-name unican </ Los ~byp | af-nane> AS BS001 BGP AS &5000
wios-bgp: ipvdrunieasts
*l“‘m.M*T::
L4ad-Eagp: Ld> €fLeasbagp Ll
ched-bgp aelte tiohrinbounds s Len -bgp selt-reconfiguraticny

£ bon-bgp  neighbors
f Laa-bagp: ipvd-unicast»
</fios=bgp:ipwis
o/ Lan=hap : na-vel>
</ pon-bgp addreen - family»
o/ Lan-bgp: bap>
L/ FeutaEy
</ nativer
</eonfigs

[ 19218811 ]| [1e216812] | esoo0 | | ssoo1 | | Ciem | | 15 |

A. Mastered
B. Not Mastered

Answer: A

Explanation:

coonfiy mmlne: mes urs:istl parans  enl nesetoonl base:l. 0" smlass“urn: LeLl parsss sl s netoonf base:l 0%
chative mmlass http: /S cisco. con/ne/yang/Cisce-[0S-XE-pative” mmlne: les-bgpe*hutp://elece. con/ne/yany /Clscs - 10S-XE-kqp~>
crouters
< hod b by =]
of bl =l | B2 £ o ~bgp dd»
o Lot -gp | ne gl
f-’iﬁl-h.%'-l.d.il 192 168 1.1 | </ hon-bagp: Lds

Cloe-bgp remete- L8> BEOO1 / ion-byp remote-ans
<f hon-bgp: aeighbors

Lion-byp sddress-fanily> “’ '-

<ion-bgpins-vel> Clet 5P
<hom -Bagp Al B 152 88 12 P 192 16811
<io8-bgp: af-nameFenicant</ Los ~byp | af-nane > AS BE001 BGE AS BRO00

cios-bgp: ipvd-unicasts

<ios-bgp nei >
LETT I N 55001 o/ Loa~bagp: Ld»
Chen-bgp i no tionkinbound 1on cbap  sef L gesonf bqurationy

</ hos-bgp  neighbors
of baa~bagp: Lpvl ~unlcas >
</ ios-bap: igwis
</ bas =agp : na-yrils
o) pon =bgp  address - fani Ly>
o o e g
i geutery
</natives
</ eanfigr

S

J1s21e811) jwsaresr2] [ eso00 | | esoo1 | § Chemt [T e |

NEW QUESTION 247
- (Topic 2)
Refer to the exhibit.
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——
10.104.111.1.0/30 1 o T 10.104.121.0/30
G0/0 CORE G0/1

2| GO/0

10.104.110.0/24

10 20

On which interfaces should VRRP commands be applied to provide first hop redundancy to PC-01 and PC-02?

A. GO/0 and GO0/1 on Core

B. G0/0 on Edge-01 and G0/0 on Edge-02
C. G0/1on Edge-01 and G0/1 on Edge-02
D. G0/0 and G0/1 on ASW-01

Answer: C

NEW QUESTION 251
- (Topic 2)

Device# configure terminal
Dewvice(config# netconf ssh acl 1
Dewvice(config# netconf lock-time 100

Dewvice(config # netconf max-sessions 1
Device(config # netcon! max-message 10

Refer to the exhibit. A network engineer must configure NETCONF. After creating the configuration, the engineer gets output from the command show line, but not
from show running-config. Which command completes the configuration?

Device(config ¥ netconf lock-time 500
Device(config # netconf max-message 1000
Device(config)# no netconf ssh acl 1

Device(config # netconf max-sessions 100

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 252
- (Topic 2)
How does a fabric AP fit in the network?
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A. ltis in local mode and must be connected directly to the fabric border node
B. Itis in FlexConnect mode and must be connected directly to the fabric edge switch.
C. Itis in FlexConnect mode and must be connected directly to the fabric border node
D. Itis in local mode and must be connected directly to the fabric edge switch.

Answer: D

NEW QUESTION 254
- (Topic 2)

By default, which virtual MAC address does HSRP group 16 use?

A. c0:41:43:64:13:10
B. 00:00:0c 07:ac:10
C. 00:05:5c:07:0c:16
D. 05:00:0c:07:ac:16

Answer: B

Explanation:

The last two-digit hex value in the MAC address presents the HSRP group number. In this case 16 in decimal is 10 in hexadecimal

NEW QUESTION 255
- (Topic 2)
Refer to the exhibit.

Antenna 3D Radiation Pattern

Which type of antenna does the radiation pattern represent?

A. Yagi

B. multidirectional
C. directional patch
D. omnidirectional

Answer: A

NEW QUESTION 256
- (Topic 2)
Refer to the exhibit.

- ﬁ;v

Router R1

router bgp 5500
no synchronization
bgp router-id 10.10,10.10
bgp log-neighbor-changes
natwork 15%2.168.100.0
redistribute connected
neighbor 172.1€.10.2 remcte—as 5500
neighbor 172.16.10.2 sofr-reconfiguration inbound
neighbor 192.168.100.11 remote—-as 5500
no auto-summary
1
address-family vpnvid
neighbor 172.16.10.
neighbor 172.16.10.
exit-address—family

activars
send-community both

B3 ba

router bgp 6500
no synchronization
bgp router-id 20.20.20.20
bgp log-neighbor-changes
neighbor 172.16.10.1 remcte-as 5300
no auto=-Summary
1
l
address-family vpnvd
neighbor 172.16.10.1 activate
neighbor 172.16.10.1 send-community both
exit-address-family
address-family ipvd4 vrf WAN
redistribute connected
raedistribute static
neighbor 172.16.10.1 remote-as 5500
neighbor 172.16.10.1 activate
no synchronization
exit-address—family

An engineer configures the BGP adjacency between R1 and R2, however, it fails to establish Which action resolves the issue?

A. Change the network statement on R1 to 172.16 10.0
B. Change the remote-as number for 192 168.100.11.
C. Enable synchronization on R1 and R2
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D. Change the remote-as number on R1 to 6500.

Answer: D

NEW QUESTION 260

- (Topic 2)
Refer to the Exhibit.
R1 R2
key chain ciscolll ey chaln ciscolll
ey 1 ey 1
key=string CiscolZal key=atring ciscellil
Ecnernetd/0 - Group 10 Ecnernetd/ o - Group 10
Btate is Active Scate is Active
3 state changes, last state change 00102149 17 state changes, last state change 0010211
Vizeual IP address i3 192.168.0 Vircual IP acddress 18 192.168.0.1
=37 .acha A virtual HAC address

Retive vircual MAC address 1

Tual MAC addresa iz OO

MAC addres
0 sec; hold time 30 sec
T in €.7I0 sece

key=chain "ciacoll3®

0 o] Anfaal=
+AC0a (51 aelaulit)

= 5 i,
f= a 233)

Group name ia “"workstation-group® [(cfgd) [:3‘

|+l default)

An engineer is installing a new pair of routers in a redundant configuration. When checking on the standby status of each router the engineer notices that the

routers are not
functioning as expected. Which action will resolve the configuration error?

A. configure matching hold and delay timers
B. configure matching key-strings

C. configure matching priority values

D. configure unique virtual IP addresses

Answer: B

Explanation:

From the output exhibit, we notice that the key-string of R1 is Cisco123! (letter C is in capital) while that of R2 is cisco123!. This causes a mismatch in the

authentication so we have to fix their key-strings.

key-string [encryption-type] text-string: Configures the text string for the key. The text- string argument is alphanumeric, case-sensitive, and supports special
characters. Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus9000/sw/6-x/security/configuration/guide/b_Cisco_Nexus_9000 Series N

X-OS_Security_Configuration_Guide/b_Cisco_Nexus 9000 Series NX-
OS_Security_Configuration_Guide_chapter_01111.pdf

NEW QUESTION 265
- (Topic 1)
What is the function of a fabric border node in a Cisco SD-Access environment?

A. To collect traffic flow information toward external networks

B. To connect the Cisco SD-Access fabric to another fabric or external Layer 3 networks
C. To attach and register clients to the fabric

D. To handle an ordered list of IP addresses and locations for endpoints in the fabric.

Answer: B

NEW QUESTION 266
- (Topic 1)

A customer has several small branches and wants to deploy a WI-FI solution with local management using CAPWAP. Which deployment model meets this

requirement?

A. Autonomous

B. Mobility Express

C. SD-Access wireless
D. Local mode
Answer: B

NEW QUESTION 268
- (Topic 1)
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NewYork@ihos etherchannel joseary
g-!-'——— ----- qp-g Flaga: D o -] in port - ¢hasne]
I » stand-alorne % Supended

i« Hot.standby [LACP oaly)
Londonjconfigisiniedace range falv1.2 R~ Layerd 5 - Layerd
u

Londonconiig-f-range swiichp runk encapaulation dol1g = In wiae f - falled to allocate aggregator
London{config-f-range swichp modis burk u - ursultsble for bundling
Londoni config-f-range channel-group 1 mode actve ; . ;::rtlr:: to be aggregated
f I ’ SlT pOrt
tmﬂtﬂlﬂﬂfﬂﬂl raungpe: | ] Nusber of channel-groups In use: 1
Nusber of aggregators: 1
Group Port-channgl Protocol Parts
1 Pal{%0) PagP Falfi(1) Falys2({D)
Marw ekl
HesYorkfthoe etherchamne] port:chanme]
Channe l-group listing:
Gt 1

Port-channels in the group:
Port-channel: Pol

-'ltd of the Port.chasne] = (A - B - Ldle - R

Logical slot/port o | hustér of ports = @

[ = OO0 HatSrandly port = mull
Port state = Port-channel |

Protocol = PAGP

Port Security = [Hyabled

Refer to the exhibit. Communication between London and New York is down. Which command set must be applied to the NewYork switch to resolve the issue?

A)

NewYork(config)#no interface po1
NewYork(config)#interface range fa0/1.2
NewYork(config-ifj#channel-group 1 mode negotiate
NewYork(config-ifj#end

NewYork#

NewYork(config)#no interface po1
NewYork(config)#interface range fa0/1-2
NewYork(config-ifyj#channel-group 1 mode on
NewYork(config-ifj#end

NewYork#

NewYork(config)#no interface po1
NewYork(config)#interface range fa0/1-2
NewYork(config-ifj¥channel-group 1 mode auto
NewYork(config-ifj#end

NewYork#

NewYork(config)#no interface po1
NewYork(config)#interface range fa0/1-2
NewYork(config-ifj¥channel-group 1 mode passive
NewYork(config-ifj#end

NewYork#

A. Option A
B. Option B
C. Option C
D. Option D
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Answer: D

NEW QUESTION 272
- (Topic 1)
How is MSDP used to interconnect multiple PIM-SM domains?

A. MSDP depends on BGP or multiprotocol BGP for mterdomam operation

B. MSDP SA request messages are used to request a list of active sources for a specific group
C. SDP allows a rendezvous point to dynamically discover active sources outside of its domain
D. MSDP messages are used to advertise active sources in a domain

Answer: A

NEW QUESTION 274
- (Topic 1)
In cisco SD_WAN, which protocol is used to measure link quality?

A. OMP
B. BFD
C. RSVP
D. IPsec

Answer: B

Explanation:

The BFD (Bidirectional Forwarding Detection) is a protocol that detects link failures as part of the Cisco SD-WAN (Viptela) high availability solution, is enabled by

default on all vEdge routers, and you cannot disable it.

NEW QUESTION 276
- (Topic 1)
Which method of account authentication does OAuth 2.0 within REST APIs?

A. username/role combination
B. access tokens

C. cookie authentication

D. basic signature workflow

Answer: B
Explanation:

The most common implementations of OAuth (OAuth 2.0) use one or both of these tokens:
+ access token: sent like an API key, it allows the application to access a user’s data; optionally, access tokens can expire.

+ refresh token: optionally part of an OAuth flow, refresh tokens retrieve a new access token if they have expired. OAuth2 combines Authentication and

Authorization to allow more sophisticated scope and validity control.

NEW QUESTION 281
- (Topic 1)
What is a benefit of data modeling languages like YANG?

A. They enable programmers to change or write their own application within the device operating system.
B. They create more secure and efficient SNMP OIDs.

C. They make the CLI simpler and more efficient.

D. They provide a standardized data structure, which results in configuration scalability and consistency.

Answer: D

Explanation:

Yet Another Next Generation (YANG) is a language which is only used to describe data models (structure). It is not XML or JSON.

NEW QUESTION 285

- (Topic 1)

Which JSON syntax is valid?

A)

"switch™ "name” “dist1” “interfaces” ["gig1”. "9ig2". “gig3"])
B)

Lswaltch'. (name’. aist1, mterfaces . | 991, g2, gl ),
C)

Cswitch™. (" name”. "dist1”, "interfaces™. ['gig1", "9g2", "gg3'1})
D)

"switch/™: {"name/": "dist1”, Minterfaces/: ['gig1”, "g192", "gig3]})

- -
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

Explanation:

This JSON can be written as follows:
{

'switch': { 'name": 'dist1’,

'interfaces": ['gigl’, 'gig2', 'gig3']

}

}

NEW QUESTION 287
- (Topic 1)
Refer to the exhibit.

Router# traceroute 10.10.10.1

Type escape ﬁeduence to abort.
Tracing the route to 10.10.10.1
5 msec S5 msec 5 msec

1
1 15 msec 17 msec 17 msec
0.1 = * .

1
'z i
3

An engineer is troubleshooting a connectivity issue and executes a traceoute. What does the result confirm?

A. The destination server reported it is too busy
B. The protocol is unreachable

C. The destination port is unreachable

D. The probe timed out

Answer: D

Explanation:
In Cisco routers, the codes for a traceroute command reply are:

I — success* — time outN — network unreachableH — host unreachableP — protocol unreachableA — admin deniedQ — source quench received (congestion)? —
unknown (any other ICMP message)In Cisco routers, the codes for a traceroute command reply are:

I — success* — time outN — network unreachableH — host unreachableP — protocol unreachableA — admin deniedQ — source quench received (congestion)? —
unknown (any other ICMP message)

NEW QUESTION 288
- (Topic 1)
An engineer runs the code against an API of Cisco DMA Center, and the platform returns this output What does the response indicate?

import requests
import sys
import urllib3

urllib3.disable_warnings(urllib3.exceptions.InsecureRequestWarning)

def main():
device_uri = "hups:/192.168.1. Yidna/systemlaplivi/authitoken™
http_result = requests.get{device_url, auth=("root", "test3965860701"))
print(http_result)
if http_resultstatus_code != requests.codes.ok:
print{“Call falled! Review get_token() . )
sys.exit()
print(http_resultson()["Token"])

if _name_=="_main_""
sys.exit(main())

Quinat

f python get_token.py
<Response [405)>

Call failed! Review get_token ().
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A. The authentication credentials are incorrect
B. The URI string is incorrect.

C. The Cisco DNA Center API port is incorrect
D. The HTTP method is incorrect

Answer: D

Explanation:
https://developer.mozilla.org/en-US/docs/Web/HTTP/Status

NEW QUESTION 292

- (Topic 1)

In a wireless Cisco SD-Access deployment, which roaming method is used when a user moves from one access point to another on a different access switch
using a single WLC?

A. Layer 3

B. inter-xTR
C. auto anchor
D. fast roam

Answer: B

Explanation:

A fabric edge node provides onboarding and mobility services for wired users and devices (including fabric-enabled WLCs and APs) connected to the fabric. It is a
LISP tunnel router (xTR) that also provides the anycast gateway, endpoint authentication, and assignment to overlay host pools (static or DHCP), as well as group-
based policy enforcement (for traffic to fabric endpoints).

From Cisco's guide, under SDA roaming - When a client on a fabric enabled WLAN, roams from an access point to another access point on a different access-
switch, it is called Inter- XTR, like a highway. Intra is within intra is between. Like interstate highways. That's how |

remember. https://www.cisco.com/c/en/us/td/docs/wireless/controller/9800/config- guide/b_wl 16 10 cg/mobility.html

NEW QUESTION 293
- (Topic 1)
How is Layer 3 roaming accomplished in a unified wireless deployment?

A. An EolP tunnel is created between the client and the anchor controller to provide seamless connectivity as the client is associated with the new AP.
B. The client entry on the original controller is passed to the database on the new controller.

C. The new controller assigns an IP address from the new subnet to the client

D. The client database on the original controller is updated the anchor entry, and the new controller database is updated with the foreign entry.

Answer: D

NEW QUESTION 294
- (Topic 1)
Which design principle slates that a user has no access by default to any resource, and unless a resource is explicitly granted, it should be denied?

A. least privilege

B. fail-safe defaults

C. economy of mechanism
D. complete mediation

Answer: B

NEW QUESTION 297
- (Topic 1)
Which measurement is used from a post wireless survey to depict the cell edge of the access points?

A. SNR
B. Noise
C. RSsSI
D. CCl

Answer: A

Explanation:

Coverage defines the ability of wireless clients to connect to a wireless AP with a signal strength and quality high enough to overcome the effects of RF
interference. The edge of the coverage for an AP is based on the signal strength and SNR measured as the client device moves away from the AP.

The signal strength required for good coverage varies dependent on the specific type of client devices and applications on the network.

To accommodate the requirement to support wireless Voice over IP (VolP), refer to the RF guidelines specified in the Cisco 7925G Wireless IP Phone Deployment
Guide. The minimum recommended wireless signal strength for voice applications is -67 dBm and the minimum SNR is 25 dB.

The first step in the analysis of a post site survey is to verify the ‘Signal Coverage’. The signal coverage is measured in dBm. You can adjust the color-coded
signal gauge to your minimum-allowed signal level to view areas where there are sufficient and insufficient coverage. The example in Figure 8 shows blue, green,
and yellow areas in the map have signal coverage at -67 dBm or better. The areas in grey on the coverage maps have deficient coverage. Source from Cisco
https://www.cisco.com/c/en/us/td/docs/wireless/technology/vowlan/troubleshooting/vowlan_troubleshoot/8_Site_Survey RF_Design_Valid.html

NEW QUESTION 299
- (Topic 1)
Which entity is responsible for maintaining Layer 2 isolation between segments In a VXLAN environment?
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A. switch fabric
B. VTEP

C. VNID

D. host switch

Answer: C

Explanation:

ar -

The 24-bit VNID is used to identify Layer 2 segments and to maintain Layer 2 isolation between the SEQMENtS.y v AN uses an 8-byte VXLAN header that

consists of a 24-bit VNID and a few reserved bits. The VXLAN header together with the original Ethernet frame goes in the UDP payload. The 24-bit VNID is used
to identify Layer 2 segments and to maintain Layer 2 isolation between the segments.

Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus9000/sw/7-x/vxlan/configuration/guide/b_Cisco_Nexus_9000_Series_NX-
OS_VXLAN_Configuration_Guide_7x/b_Cisco_Nexus_9000_Series_NX- OS_VXLAN_Configuration_Guide_7x_chapter_010.html

NEW QUESTION 303

- (Topic 1)

After a redundant route processor failure occurs on a Layer 3 device, which mechanism allows for packets to be forwarded from a neighboring router based on the
most recent tables?

A. BFD

B. RPVST+
C. RP failover
D. NSF

Answer: D

NEW QUESTION 308

- (Topic 1)
R1#show crypto isakmp sa
IPvd Crypto ISAKMP SA
dst Src state conn-id status
209.165.201.6 209.165.201.1 QM IDLE 1001 ACTIVE

Refer to the exhibit. After configurating an IPsec VPN, an engineer enters the show command to verify the ISAKMP SA status. What does the status show?

A. ISAKMP SA is authenticated and can be used for Quick Mode.

B. Peers have exchanged keys, but ISAKMP SA remains unauthenticated.
C. VPN peers agreed on parameters for the ISAKMP SA

D. ISAKMP SA has been created, but it has not continued to form.

Answer: B

Explanation:
The ISAKMP SA has been authenticated. If the router initiated this exchange, this state transitions immediately to QM_IDLE, and a Quick Mode exchange begins.
https://www.ciscopress.com/articles/article.asp?p=606584

NEW QUESTION 309

- (Topic 1)

which entity is a Type 1 hypervisor?
A. Oracle VM VirtualBox

B. VMware server

C. Citrix XenServer

D. Microsoft Virtual PC

Answer: C

NEW QUESTION 312

- (Topic 1)
Cigh/ 1 Trumk Cigid /1
hﬁl——_-_----_————'---_'-'
sl Sawitch Sweitch 2
gigiy Cago)2 Falyl
1 |
| |
1
I Tiunk Tt l
I
b { Cigl/l I
Cigl/ 1 T a
ﬁ-’-——————- e e e —— hﬂ Vian 50
Gigll /2 Uner
Swattch 4 Sweitch 1

Refer to the exhibit. Rapid PVST+ is enabled on all switches. Which command set must be configured on switchl to achieve the following results on port fa0/1?
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* When a device is conneclted, the port transitions immediately 10 a forwarding state.
* The interface should not send or receive BPDUs.
* It a BPDU is received, it continues operating normailly.

A)

Switch1(config# interface f0/1
Switch1(config-if # spanning-tree portfast

B)

Switch1(config)# spanning-tree portfast bpdufilter default
Switch1(config)# Interface 10/1

Switch1(config-if}# spanning-tree portfast

C)

Switch1(config)® spanning-tree portfast bpduguard default
Switch1(config# interface f0/1

Switch1(config-if)# spanning-tree portfast

D)

Switch1(config)# interface 10/1

Switch1(config-if)# spanning-tree portfast
Switch1(config-if# spanning-tree bpduguard enable

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D
NEW QUESTION 313

DRAG DROP - (Topic 1)
Drag and drop the characteristics from the left onto the routing protocols they describe on the right.

(V52
supports unequal path lad balancng

Ik state rousng protocol

distance vector routing protocdl

e & based on delay and bandwidth by default im:

makes & aasy 10 segment the network lagcaly

constructs thres tables &5 part of &5 opsration: nesghbor table,
topoiogy table, and routng table

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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[ o

Ik state routng protoodl

makes & aasy O segmeant the network ioocaly

constructs three tables & part of its operanon: nesghbor table,
topology table, and routng table

I supports unegual path load balancng

‘ detance vellor routng protoscl

constructs thres tables a5 part of it opsraton: neghbor table,
topciogy table, and routng tabls

mem: 5 basad on delsy and bandwacth by defaur

NEW QUESTION 317

- (Topic 1)

How does Cisco Trustsec enable more access controls for dynamic networking
environments and data centers?

A. classifies traffic based on advanced application recognition

B. uses flexible NetFlow

C. classifies traffic based on the contextual identity of the endpoint rather than its IP address correct
D. assigns a VLAN to the endpoint

Answer: C

Explanation:

The Cisco TrustSec solution simplifies the provisioning and management of network access control through the use of software-defined segmentation to classify
network traffic and enforce policies for more flexible access controls. Traffic classification is based on endpoint identity, not IP address, enabling policy change
without net-work redesign.

NEW QUESTION 318

- (Topic 1)

When a wireless client roams between two different wireless controllers, a network connectivity outage is experience for a period of time. Which configuration issue
would cause this problem?

A. Not all of the controllers in the mobility group are using the same mobility group name.

B. Not all of the controllers within the mobility group are using the same virtual interface IP address.
C. All of the controllers within the mobility group are using the same virtual interface IP address.

D. All of the controllers in the mobility group are using the same mobility group name.

Answer: B
NEW QUESTION 319

DRAG DROP - (Topic 1)
Drag and drop the threat defense solutions from the left onto their descriptions on the right.

Umbrediz prowides malware protechon on endpoints
AMP4E provides IPS/IDS capabilities
FTD performs sacunty analytics by collecting network flows
StealthWatch protects against emall threat vedtor
ESA provides DNS protection

A. Mastered
B. Not Mastered

Answer: A
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Explanation:
e e e | —
I E 5
I_ ______ Frﬂ_ ______ : Steaithiwatth
_____ SEalh_watEn_____ ESA
I
I

NEW QUESTION 322

- (Topic 1)

How does EIGRP differ from OSPF?

A. EIGRP is more prone to routing loops than OSPF

B. EIGRP supports equal or unequal path cost, and OSPF supports only equal path cost.

C. EIGRP has a full map of the topology, and OSPF only knows directly connected neighbors
D. EIGRP uses more CPU and memory than OSPF

Answer: B

NEW QUESTION 327

- (Topic 1)
SiteA SiteB
225 1
10.1.1.0/24 Public Network 10.2.2.0/24
/0 GiO/1
209165 200 1. 26/30 209.165.201.2/30
interface Tunnel 100 interface Tunnel 100
o addeess 192.168.100.1 255.255.155.0 o address 192.168.100. 2 255.255. 2550
keepalive 5 4 keepalne 7 6
tunned sour or GigabitE ther net/0 tunnel sour or Gigabetf ther netQ/1
tunnel destinatson 209.165.201.2 tunned destnation 209.165. 200,226
i I
inter face GigabitE thernet0/0 nter face Gagabitk thernet0/0
ip address 109.165. 200,226 255.255.255.151 ip address 10.2.2.1 2552553550
[ ] [
mnter lace GagabwtE thernetl/] inter lace GigabitfthernetQf]
P address 10.1.1.1 2552553550 ip address 209.165.200.2 255.255.355.252
| I
router ospl 100 router ospl 200
network 0.0.0.0 255.255.255.755 area 0 network 0.0.0.0 255.255.255.755 arca D
| L
ip route 0.0.0.00.0.0.0 209 165 200225 ip route 0.0.0.0 0.0.0.0 209.16%.201.1
| I

A network engineer configures a new GRE tunnel and enters the show run command. What does the output verify?

A. The tunnel will be established and work as expected

B. The tunnel destination will be known via the tunnel interface

C. The tunnel keepalive is configured incorrectly because they must match on both sites
D. The default MTU of the tunnel interface is 1500 byte.

Answer: B

NEW QUESTION 332
- (Topic 1)
Refer to the exhibit.
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Security policy requires all idle-exec sessions to be terminated in 600 seconds. Which configuration achieves this goal?

A. line vty 0 15absolute-timeout 600
B. line vty 0 15 exec-timeout

C. line vty 01 5exec-timeout 10 0

D. line vty 0 4exec-timeout 600

Answer: C

NEW QUESTION 333
- (Topic 1)
Which action is the vSmart controller responsible for in an SD-WAN deployment?

A. handle, maintain, and gather configuration and status for nodes within the SD-WAN fabric
B. distribute policies that govern data forwarding performed within the SD-WAN fabric

C. gather telemetry data from vEdge routers

D. onboard vEdge nodes into the SD-WAN fabric

Answer: B

NEW QUESTION 337
- (Topic 1)

Which outbound access list, applied to the WAN interface of a router, permits all traffic except for http traffic sourced from the workstation with IP address

10.10.10.1?

A)

ip access-list extended 100

deny tcp host 10.10.10.1 any eq 80
permit ip any any

B)

Ip access-hist extended 200

deny tcp host 10.10.10.1 eqg 80 any
permit ip any any

C)

Ip access-list extended NO_HTTP
deny tcp host 10.10.10.1 any eq 80

D)

Ip access-list extended 10
deny tcp host 10.10.10.1 any eq 80
permnt ip any any

A. Option A
B. Option B
C. Option C
D. Option D
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Answer: A

NEW QUESTION 338
- (Topic 1)
Refer to the exhibit.
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Which HTTP JSON response does the python code output give?

A. NameError: name ‘json' is not defined
B. KeyError 'kickstart_ver_str'

C.7.61

D. 7.0(3)I7(4)

Answer: D

NEW QUESTION 340
- (Topic 1)
Which two components are supported by LISP? (Choose two.)

A. Proxy ETR

B. egress tunnel router
C. route reflector

D. HMAC algorithm

E. spoke

Answer: AB

NEW QUESTION 343
- (Topic 1)
Which two network problems Indicate a need to implement QoS in a campus network? (Choose two.)

A. port flapping

B. excess jitter

C. misrouted network packets
D. duplicate IP addresses

E. bandwidth-related packet loss

Answer: BE

NEW QUESTION 345

- (Topic 1)
L] F-5-A I &ns s NDI i n FastEthernsat from
FULL t WN, Neighl Down: Interface wT r detached
L] F-6-AREACHG: 1 1/3 hanged Ifrom area ! Area I
1 PF=-8=-EFRRECY: Rect Ve d nvaiid packel mi:smat Fa s & o
DACKDONnG Ar®A MUST Dé Virtua nk put not found from ’
L_..q‘:!llt_ -__'

Refer to me exhibit. What is the cause of the log messages?

A. hello packet mismatch
B. OSPF area change

C. MTU mismatch

D. IP address mismatch

Answer: B

NEW QUESTION 348
- (Topic 1)
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Which algorithms are used to secure REST API from brute attacks and minimize the impact?

A. SHA-512 and SHA-384

B. MD5 algorithm-128 and SHA-384
C. SHA-1, SHA-256, and SHA-512
D. PBKDF2, BCrypt, and SCrypt

Answer: D

Explanation:

One of the best practices to secure REST APIs is using password hash.

Passwords must always be hashed to protect the system (or minimize the damage) even if it is compromised in some hacking attempts. There are many such
hashing algorithms which can prove really effective for password security e.g. PBKDF2, bcrypt and scrypt algorithms.

Other ways to secure REST APIs are: Always use HTTPS, Never expose information on URLs

(Usernames, passwords, session tokens, and API keys should not appear in the URL), Adding Timestamp in Request, Using OAuth, Input Parameter Validation.
Reference: https://restfulapi.net/security-essentials/

NEW QUESTION 353
DRAG DROP - (Topic 1)
Drag and drop the characteristics from the left onto the protocols they apply to on the right?

P
uses Dofoera’s Shortest Peth Frt sigonehm
umen Ooffumec Lipciste Algor e m
ume Danche i, deley, relabdty | ) e for routing metr e
(37
AN SN procees
A. Mastered
B. Not Mastered
Answer: A
Explanation:
[ e B
| uses DUpa’s Shortest Path Frst sigon it |
—————————————— uses. Difoatra’s Thortest Path Pt sigorthem
r—un-—lu—ﬂl-*‘-""‘-""-_ ———
I
usen Oaffumed Uipdiats Algor vm ] I— s A0 election proCes
— | — — | — — — | — — | — — — — — | — -I1-
Jﬂwmm.m.ﬂwhmﬂh | o
L—_—_———ﬁ—_———_—-—_—-———-—ﬂ—_ﬂ
astis I: I unes Ciffumed Uipdete Algor fm I
t u-mﬂn.ﬁh.m,ﬂhﬂhmmj

NEW QUESTION 358
- (Topic 1)
When is an external antenna used inside a building?

A. only when using Mobility Express

B. when it provides the required coverage
C. only when using 2 4 GHz

D. only when using 5 GHz

Answer: B

NEW QUESTION 361
- (Topic 1)
Which HTTP code must be returned to prevent the script form exiting?
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def get_token () :
device_uri = "https:N192.168.1. Udna/systemfapiivi/authitoken™
hitp_result = requests postidevice_url, auth = ("test”, "test358810436!) )
¥ http_result.status_code = requests.codes ok:
print (“Call failed! Review get_token (). ")
sys.exit
retum (http_resultjson () [Token'] )

A. 200
B. 201
C. 300
D. 301

Answer: A

NEW QUESTION 363
- (Topic 1)
Which AP mode allows an engineer to scan configured channels for rogue access points?

A. sniffer
B. monitor
C. bridge
D. local

Answer: B

NEW QUESTION 367
DRAG DRORP - (Topic 1)
Drag and drop the characteristics from the left onto the appropriate infrastructure deployment types on the right.

fon Premee:

Customizables hadwae, purpose-bult fystems

ey 10 wale and uprade

misng fuatabls for companes with spacific regulatory o
Secunity reguirements

resources can be over of undanutiited & reguirements vary Foud

requires 4 strong and stable intermet connection

budt4n, automated data baclaps and recovery

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Customizables hadwae, purpose-bult systems

mishe futabls for companes with spacific regulatory o
SOCLEIY reuiremments

on F

p—

customizabke hardware, purpose-bult systems

L

secLrity requrements

regoLrces Can be over of undrutingd a8 reQuIramants vary

more suitable for coMparses with specific reguiationy o F

§ resources can be over or undenutiized & requrements vary

requires 4 strong and stable intermet connection ]

buitn, automated dats backups and recovery [

NEW QUESTION 368

1 exy to scale and upgrade

busit-in, automated data backups and recovery

- (Topic 1)
Refer to the exhibit.
C Rat-astandly (LACP oaly)
[ Layerl 5 Layer.
ih uae I Eallesd ¢ di.OCatle agiegalol
M ROL 4N use, ERINiEIE LIRS ROC WaT
mnsuitable for bundling
o waiting to be aggregataed
| isfault port
Numbear of channel Jroups IR uBe:
Miaml-. £ £ aggregatorst
iroup Fort-channel Prot 1 F e
______ # ST W T #
i 5 D) FNgF G I r ii

W38 show etherchannel sumsary

Fiags: [ jown | bundled 1o port Parre .
i atarmd-4l e B I.-l-l'{lnjt"
¥ Bot-astandby (LACT nliy)
- Layer ) - Layerd
ih uaw [ falled 1 ali atle agyregat
H - mot in use, minimm links mot met
d unsultable for bundling
L alting to b aggregatea
i | efault porct
Number of channel-groupse In use:

Fiumb-e ¢ { aggregatora:

Which action resolves the EtherChannel issue between SW2 and SW3?

A. Configure switchport mode trunk on SW2.
B. Configure switchport nonegotiate on SW3

C. Configure channel-group 1 mode desirable on both interfaces.
D. Configure channel-group 1 mode active on both interfaces.

Answer: D

NEW QUESTION 370
- (Topic 1)

What is the purpose of the LISP routing and addressing architecture?

A. It creates two entries for each network node, one for Its identity and another for its location on the network.
B. It allows LISP to be applied as a network visualization overlay though encapsulation.

C. It allows multiple Instances of a routing table to co-exist within the same router.

D. It creates head-end replication used to deliver broadcast and multicast frames to the entire network.

Answer: A

NEW QUESTION 375
- (Topic 1)
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Which devices does Cisco DNA Center configure when deploying an IP-based access control policy?

A. All devices integrating with ISE
B. selected individual devices

C. all devices in selected sites

D. all wired devices

Answer: C
Explanation:

When you click Deploy, Cisco DNA Center requests the Cisco Identity Services Engine (Cisco ISE) to send notifications about the policy changes to the network
devices.

NEW QUESTION 378
- (Topic 1)

gk aee L] (L

o i
taterface 0l taterToce G}
Sl im0t e MHmewii »1C vl POt adde dynae ] L,

Refer to the exhibit. An engineer attempts to configure a trunk between switch swl and switch SW2 using DTP, but the trunk does not form. Which command
should the engineer apply to switch SW2 to resolve this issue?

A. switchport mode dynamic desirable
B. switchport nonegotiate

C. no switchport

D. switchport mode access

Answer: A
NEW QUESTION 381

- (Topic 1)
Refer to the exhibit.

timeout 50

) sla schedule 10 life forever start-time now

ack 10 i1p sla 10 reachability

The IP SLA is configured in a router. An engineer must configure an EEM applet to shut down the interface and bring it back up when there is a problem with the
IP SLA. Which configuration should the engineer use?

A. event manager applet EEM_IP_SLA event track 10 state down

B. event manager applet EEM_IP_SLA event track 10 state unreachable
C. event manager applet EEM_IP_SLA event sla 10 state unreachable
D. event manager applet EEM_IP_SLA event sla 10 state down

Answer: A

Explanation:

The ip sla 10 will ping the IP 192.168.10.20 every 3 seconds to make sure the connection is still up. We can configure an EEM applet if there is any problem with
this IP SLA via the command event track 10 state down.

Reference: https://www.theroutingtable.com/ip-sla-and-cisco-eem/

NEW QUESTION 383
DRAG DROP - (Topic 1)

Drag and drop the DHCP messages that are exchanged between a client and an AP into the order they are exchanged on the right.
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DHCP request Step 1 E
DHCP offer Step 2
DHOP discover Step 3

DHCP ack Step 4

A. Mastered
B. Not Mastered

Answer: A

Explanation:

There are four messages sent between the DHCP Client and DHCP Server: DHCPD ISCOVER, DHCPOFFER, DHCPREQUEST and

DHCPACKNOWLEDGEMENT.
This process is often abbreviated as DORA (for Discover, Offer, Request, Acknowledgement).

NEW QUESTION 386
- (Topic 1)
What are two differences between the RIB and the FIB? (Choose two.)

A. The FIB is derived from the data plane, and the RIB is derived from the FIB.

B. The RIB is a database of routing prefixes, and the FIB is the Information used to choose the egress interface for each packet.
C. FIB is a database of routing prefixes, and the RIB is the information used to choose the egress interface for each packet.

D. The FIB is derived from the control plane, and the RIB is derived from the FIB.
E. The RIB is derived from the control plane, and the FIB is derived from the RIB.

Answer: BE
NEW QUESTION 389

- (Topic 1)
Refer to the exhibit.

. General | Security | QoS | Policy-Mapping | Advanced |

Layer 2 | Layer3 | AAA Servers

Fast Transition
Fast Transition
Protected Management Frame
PMF Disabled ¥
WPA+WPA2 Parameters
- WPA Policy
WPAZ Policy-AES b

Authentication Key Management

802.1X Enable
CCKM Enable
PSK ¥ Enable
FT 802.1X Enable
FT PSK Enable
PSK Format ASCII ¥

-

Based on the configuration in this WLAN security setting, Which method can a client use to authenticate to the network?

A. text string

B. username and password
C. certificate

D. RADIUS token

Answer: A

NEW QUESTION 394
- (Topic 1)
What is the function of the LISP map resolver?
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A. to send traffic to non-LISP sites when connected to a service provider that does not accept nonroutable EIDs as packet sources

B. to connect a site to the LISP-capable part of a core network publish the EID-to-RLOC mappings for the site, and respond to map-request messages

C. to decapsulate map-request messages from ITRs and forward the messages to the MS.
D. to advertise routable non-LISP traffic from one address family to LISP sites in a different address family

Answer: C

Explanation:

Map resolver (MR): The MR performs the following functions: Receives MAP requests, which are encapsulated by ITRs. Provides a service interface to the ALT

router, de-encapsulates MAP requests, and forwards on the ALT topology.

NEW QUESTION 397
- (Topic 1)
What are two benefits of virtual switching when compared to hardware switching? (Choose two.)

A. increased MTU size

B. hardware independence

C. VM-level isolation

D. increased flexibility

E. extended 802.1Q VLAN range

Answer: CD

NEW QUESTION 398
- (Topic 1)
Refer to the exhibit.

Lo

Gie/e Gia/a

| 2
10.0.0.0/24

R1

Router R1 Router R2

er ospf 1 router ospf 1 1
rnutmuter?id 1.1.1.1 router-id 2.2.2.2 4 iy

network 1.1.1.1 0.9.9.8 area 8 network 2.2.2.2 B.E.E.Bz;;\n a g

network 16.6.0.0 ©.8.08.255 area @ network 10.8.8.8 8.98.8. area @

1 L
EMET

A network engineer is configuring OSPF between router R1 and router R2. The engineer must ensure that a DR/BDR election does not occur on the Gigabit

Ethernet interfaces in area 0. Which configuration set accomplishes this goal?
A)

o R1(config-if)interface Gi0/0
R1(config-if)ip ospf network point-to-point

R2(config-ifinterface Gi0/0 :
R2(config-f)ip ospf network point-to-point

1 R1(config-if)interface Gi0/0
: R1(config-if)ip ospf network broadcast

R2(config-ifjinterface Gi0/0
R2(config-if)ip ospf network broadcast
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. R1(config-iNinterface Gi0/0
# R1((conﬁﬁg4f)ip ospf database-filter all out

R2(config-finterface Gi0/0
R2{conf‘.l::g4f jip ospf database-filter all out

D)
R1(config-finterface Gi0/0
R1(config-f)ip ospf prionty 1
R2(config-flinterface (_Siom
R2(config-f)ip ospf priority 1

Broadcast and Non-Broadcast networks elect DR/BDR while Point-topoint/ multipoint do not elect DR/BDR. Therefore we have to set the two Gi0/0 interfaces to
point-to-point or point-to-multipoint network to ensure that a DR/BDR election does not occur.

NEW QUESTION 401

- (Topic 1)
Gi1/0 Gi11 Gi1/0 Gi1M1
A 2 A 2

Refer to the exhibit.

.254 192.168.12.0/24 192.168.23.0/24
192.168.1.0/24 192.168.3.0/24
.1

* Frame 7: 106 bytes on wire (B48 bites), 106 bytes captured (848 bits) on interface @
H Be:02:44), Dst: Ciscolnc 8b:36:dl (8D:1d:al:Bb:36:d1)

180 .... = Version: 4

ssws 0101 = Header Length: 20 bytes
» Differentiated Services Fleld: Ox0@ (DSCP: C50, ECN: Not-ECT)
Total Length: 92
Identification: OxB3c7 (967)
* Flags: 000
Fra nt offset: @

Protocol: I1CHF
» Header checksum: Ox0000 [validation disableda)

Source: 192.168.1.1

Destination: 192.168.3.1

[Source GeoIP: Uninown ]

Destination GeoIP: Unknown
w ernet Control Message Protocol
Type: E (Echo tpinij request )

Code: @
Checksum: @xf783 [correct]
Identifier (BE): 1 (0x0001)
Identifier (LE): 256 (Ox010@)
Segquence number (BE): 123 (@wdd7Tb)
Sequence number (LE): 31488 (0x7b0ad)
» [No response seen]
> Data (64 bytes)

Which troubleshooting a routing issue, an engineer issues a ping from S1 to S2. When two actions from the initial value of the TTL? (Choose two.)
A. The packet reaches R3, and the TTL expires

B. R2 replies with a TTL exceeded message
C. R3 replies with a TTL exceeded message.
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D. The packet reaches R2 and the TTL expires
E. R1 replies with a TTL exceeded message

F. The packet reaches R1 and the TTL expires.
Answer: AD

Explanation:

Source MAC in the capture is VMWare, MAC is Cisco. Routers first check the TTL before any further process, subtract 1 at R1. Send to R2, subtract and you
have ZERO. Discard packet and reply with ICMP Time Exceeded message from that point, don't even bother checking the Route table for further processing.

NEW QUESTION 406
- (Topic 1)

nasghbor 172 24 108 1 nest-hip-sed
nasghoor 209 165 202 ' M remote-a3 200

BRZ

resnter Dge 100

nasght0r 172 24 108 2 remote-as 100
nesghDor 171 24 106 2 nest hop-seff
Paeghtod 209 165 200 230 remole-as JOC

BR28sh ip route | 1 209 165 2010
209 165 201 0727 1 subnetied 1 subnels

I [
I i
' @
I > ba musmu:m >
§ VIR | e .’

- -
I [

200065200 027
I Aswo [
I ] -
1 b
1) ' AS300 \

I 1.*:14*1:#11:1:1: I
. @e - .
' (09—
' pomz | mmmznn‘ T

- -— -
PR PE
router bgp 100 router bgp 200
nasghbor 172 24 108 1 remole-as 100 bgr log-reghoor -Charges

mesghtor 200 185 202 11) remate-1 104

PE2
rontter DO 300

DG 0G-Neghbor -Charges
ninghbor 209 164 200 229 mmole-a1 100

B 209 165 201 0 [20/0] via 209 165 200 230 00 0017

Refer to the exhibit. Which configuration change will force BR2 to reach 209 165 201 0/27 via BR1?

A. Set the weight attribute to 65.535 on BR1 toward PE1.

B. Set the local preference to 150 on PE1 toward BR1 outbound
C. Set the MED to 1 on PE2 toward BR2 outbound.

D. Set the origin to igp on BR2 toward PE2 inbound.

Answer: C

Explanation:
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Hi R4! My MED is 100! |
Z—" )
(R2's MED is lower

S L_fjil will use its path!

-

-,

Hi R4! My MED is 200! |

S, i

Diagrama Descripcion generada automaticamenteMED Attribute:+ Optional nontransitive attribute
(nontransitive means that we can only advertise MED to routers that are one AS away)+ Sent through ASes to external BGP neighbors+ Lower value is preferred
(it can be considered the external metric of a route)+ Default value is 0

NEW QUESTION 409
- (Topic 1)
Refer to the exhibit.

433 new-model
aaa authentication login default local-case enable
Aaa authentication login ADMIN local-case
username CCNFP secret StringP@sswird!
line 0 4
login authentication ADMIN

An engineer must create a configuration that executes the show run command and then terminates the session when user CCNP legs in. Which configuration
change is required?

A. Add the access-class keyword to the username command

B. Add the access-class keyword to the aaa authentication command
C. Add the autocommand keyword to the username command

D. Add the autocommand keyword to the aaa authentication command

Answer: C

Explanation:

The autocommand causes the specified command to be issued automatically after the user logs in. When the command is complete, the session is terminated.
Because the command can be any length and can contain embedded spaces, commands using the autocommand keyword must be the last option on the line. In
this specific question, we have to enter this line username CCNP autocommand show running-config.

NEW QUESTION 412
- (Topic 1)
If the noise floor is -90 dBm and wireless client is receiving a signal of -75 dBm, what is the SNR?

A. 15
B.1.2
C.-165
D. .83

Answer: A

NEW QUESTION 414

- (Topic 1)

What is one fact about Cisco SD-Access wireless network deployments?
A. The access point is part of the fabric underlay

B. The WLC is part of the fabric underlay

C. The access point is part the fabric overlay

D. The wireless client is part of the fabric overlay

Answer: C

NEW QUESTION 417
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- (Topic 1)

GO0/0 | 209.165.200.225

100 WEB SERVER
10.1.1.0/24 TCP 8080

Refer to the exhibit. External users require HTTP connectivity to an internal company web server that is listening on TCP port 8080. Which command set

accomplishes this requirement?
A)

interface GO0
ip address 209.165.200.225 266.255.266.224
ip nat inside

interface GO/1
ip address 10.1.1.1 255.2565.266.0
ip nat outside

ip nat inside source static tcp 10.1.1.1 8080 209,165.200.225 80
B)

interface GO0
ip address 209.165.200.225 265.256.255.224
ip nat outside

interface GO/
ip address 10.1.1.1 255.255.2556.0
ip nat inside

ip nat inside source static tcp 10.1.1.100 8080 interface GO/ 80
©)

interface GO0

ip address 209.165.200.225 265.255.255.224
ip nat inside

D)
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interface GO/O
ip address 209.165.200.225 255.255.255.224
ip nat inside

interface GO/
ip address 10.1.1.1 265.255.255.0
ip nat outside

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B
NEW QUESTION 421

- (Topic 1)
Refer to the exhibit.

Extended IP access list EGRESS

10 permit ip 10.0.0.0 0.0.0.255 any
|

<Output Omitted=-

!

intarface Gigabitktharmet/0

Iip addrass 209 165.200.225 255.255.255.0
ip access-group EGRESS out

duplex aulo

speed auto
media-type n4s

An engineer must block all traffic from a router to its directly connected subnet 209.165.200.0/24. The engineer applies access control list EGRESS in the
outbound direction on the GigabitEthernet0/0 interface of the router However, the router can still ping hosts on the 209.165.200.0/24 subnet. Which explanation of
this behavior is true?

A. Access control lists that are applied outbound to a router interface do not affect traffic that is sourced from the router.

B. Only standard access control lists can block traffic from a source IP address.

C. After an access control list is applied to an interface, that interface must be shut and no shut for the access control list to take effect.
D. The access control list must contain an explicit deny to block traffic from the router.

Answer: A

NEW QUESTION 424
- (Topic 1)
Where is radio resource management performed in a cisco SD-access wireless solution?

A. DNA Center
B. control plane node
C. wireless controller
D. Cisco CMX

Answer: C

Explanation:

Fabric wireless controllers manage and control the fabric-mode APs using the same general model as the traditional local-mode controllers which offers the same
operational advantages such as mobility control and radio resource management. A significant difference is that client traffic from wireless endpoints is not
tunnelled from the APs to the wireless controller. Instead, communication from wireless clients is encapsulated in VXLAN by the fabric APs which build a tunnel to
their first-hop fabric edge node. Wireless traffic it tunneled to the edge nodes as the edge nodes provide fabric
services such as the Layer 3 Anycast Gateway, policy, and traffic enforcement. https://www.cisco.com/c/en/us/td/docs/solutions/CVD/Campus/cisco-sda-design-
guide.html

NEW QUESTION 428
- (Topic 1)
How does an on-premises infrastructure compare to a cloud infrastructure?
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A. On-premises can increase compute power faster than cloud

B. On-premises requires less power and cooling resources than cloud

C. On-premises offers faster deployment than cloud

D. On-premises offers lower latency for physically adjacent systems than cloud.

Answer: D

NEW QUESTION 429
- (Topic 1)
Which TCP setting is tuned to minimize the risk of fragmentation on a GRE/IP tunnel?

A. MTU
B. Window size
C. MRU
D. MSS

Answer: D

Explanation:

The TCP Maximum Segment Size (TCP MSS) defines the maximum amount of data that a host is willing to accept in a single TCP/IP datagram. This TCP/IP
datagram might be fragmented at the

IP layer. The MSS value is sent as a TCP header option only in TCP SYN segments. Each side of a

TCP connection reports its MSS value to the other side. Contrary to popular belief, the MSS value

is not negotiated between hosts. The sending host is required to limit the size of data in a single

TCP segment to a value less than or equal to the MSS reported by the receiving host. TCP MSS takes care of fragmentation at the two endpoints of a TCP
connection, but it does not handle the case where there is a smaller MTU link in the middle between these two endpoints.

PMTUD was developed in order to avoid fragmentation in the path between the endpoints. It is

NEW QUESTION 431
- (Topic 1)
Refer to the exhibit

! prntncnlﬁ:rampnrt GRE/IP.

ey disabled, sequencing disabled
cksumming of packets disabled }

| TTL 255, Fast tunneling enabled
el transport MTU 1476 bytes

A network engineer configures a GRE tunnel and enters the show Interface tunnel command. What does the output confirm about the configuration?

A. The keepalive value is modified from the default value.
B. Interface tracking is configured.

C. The tunnel mode is set to the default.

D. The physical interface MTU is 1476 bytes.

Answer: C

NEW QUESTION 435

- (Topic 1)

A customer has recently implemented a new wireless infrastructure using WLC-5520 at a site directly next to a large commercial airport. Users report that they
intermittently lose WI- FI connectivity, and troubleshooting reveals it is due to frequent channel changes. Which two actions fix this issue? (Choose two)

A. Remove UNII-2 and Extended UNII-2 channels from the 5 Ghz channel list

B. Restore the DCA default settings because this automatically avoids channel interference.

C. Configure channels on the UNIk2 and the Extended UNII-2 sub-bands of the 5 Ghzband only
D. Enable DFS channels because they are immune to radar interference.

E. Disable DFS channels to prevent interference with Doppler radar

Answer: AE

NEW QUESTION 440
- (Topic 1)
What is the output of this code?
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def get_credentials():

creds={"username’: 'cisco’, 'password". '¢c3577dc8aeded6cObfbEfed308614245")
return (creds.get('username’))

print(get_credentials())

A. username Cisco
B. get_credentials
C. username

D. CISCO

Answer: D

NEW QUESTION 444
- (Topic 1)

L P

wirf definition hotel
address -family 1pwl
enit-address-family

wrf definition bank

—

Rl R2 addroui-family ipd
aEﬂfﬂ Eﬂfﬂ“ LAN . exit-address - family
vrf bank : S s Tt

EQ/ 172.16.0.1 :r:rf::irﬁmr;':mt

ip address 172.16.0.4 255.255.0.0

EO/O
interface Cthermet0/1
R3 wrf forwarding hotel
vrf hotel ip address 172.1.0.5% 255.255.0.0

router oapf 42 wf bark
router-id 1.1.1.1
network 172.16.0.0 0.0.255%.255 area 0

router ospf 41 wf hotel
router-1d 3.3.3.3
network 172.16.0.0 0.0.255.255 area O

Ri:
wirf definition bhank

address -family ipwl
enit-address-Tamily

Refer to the exhibit. Which configuration must be applied to R to enable R to reach the server at 172.16.0.17?
A)

interface EthernetOl0
vrf forwarding hotel
ip address 172.16.0.7 26625600

router ospf 44 vrf Hotel
network 172.16.0.0 0,0.255.265 area 0

B)

interface EthernetO0
ip address 172.16.0.7 26626600

router ospf 44 vif hotel
network 172.16,0.0 2566.255.0.0

C)

interface EthernetO0
ip address 172.16.0.7 26§ 2566 .0.0

router ospf 44 vif bank
network 172.16.0.0 255§ 255 0.0

D)
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interface EthernetO0
vrf forwarding bank
ip address 172.16.0.7 266§ 25500

router ospf 44 vrf bank
network 172.16.0.0 0.0.255.255 area 0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 449
- (Topic 1)
Which encryption hashing algorithm does NTP use for authentication?

A. SSL
B. MD5
C. AES128
D. AES256

Answer: B

Explanation:

An example of configuring NTP authentication is shown below: Routerl(config)#ntp authentication-key 2 md5 itexamanswersRouter1(config)#ntp
authenticateRouter1(config)#ntp trusted-key 2

NEW QUESTION 453
- (Topic 1)
A customer requests a network design that supports these requirements:

* FHRP redundancy
* muitivendor router environment
* |IPv4 and IPv6 hosts

Which protocol does the design include?

A. HSRP version 2
B. VRRP version 2
C. GLBP

D. VRRP version 3

Answer: D

NEW QUESTION 455
- (Topic 1)
What is one benefit of implementing a VSS architecture?

A. It provides multiple points of management for redundancy and improved support
B. It uses GLBP to balance traffic between gateways.

C. It provides a single point of management for improved efficiency.

D. It uses a single database to manage configuration for multiple switches

Answer: C

Explanation:
Support Virtual Switching System (VSS) to provide resiliency, and increased operational efficiency with a single point of management;
VSS increases operational efficiency by simplifying the network, reducing switch

management overhead by at least 50 percent. — Single configuration file and node to manage. Removes the need to configure redundant switches twice with
identical policies.

NEW QUESTION 457
- (Topic 1)
Refer to the exhibit.
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ol e

AS1 AS2
= =]
S LoD Fa0/0 192.168.10.0/24 | Fa0/0 J.nQ'E
= I'_@ 1 4 . =
-.':—i R1 R2 E

Which configuration establishes EBGP neighborship between these two directly connected neighbors and exchanges the loopback network of the two routers
through BGP?

A)

R1(config)¥router bgp 1
R1(config router)@neighbor 192.168.10.2 remote-as 2
R1(config router)network 10.1.1.0 mask 255.255.255.0

RZ(config)Frouter bgp 2
R2(config-router)@neighbor 192.168.10.1 remote-as 1
R2(config-router Enetwork 10.2.2.0 mask 255.255.255.0

B)

R1(confhig)¥router bgp 1
R1(conhg-router )#neighbor 10.2.2.2 remote-as 2
R1(config-router J#¥network 10.1.1.0 mask 266.266.266.0

R2(config)#router bgp 2
R2(config-router)#neighbor 10.1.1.1 remote-as 1
R2(config router)@network 10.2.2.0 mask 255.255.255.0

C)

R1(config )= router bgp 1
R1(conhg-router J=neighbor 192.168.10.2 remote-as 2
R1(conhig-router J=network 10.0.0.0 mask 2565.0.0.0

R2Z(conhg ¥router bgp 2
RZ(config-router J#neighbor 192.168.10.1 remote-as 1
R2Z2(config-router J#¥network 10.0.0.0 mask 266.0.0.0

D)

R1(config)yirouter bgp 1

R1(config router mneighbor 10.2.2.2 remote-as 2
R1(config-router)nelghbor 10.2.2.2 update-source 100
R1(config-router Finetwork 10.1.1.0 mask 255.255.255.0

R2(conhg =router bgp 2

RZ2(conhg-router =neighbor 10.1.1.1 remote-as 1
R2Z2(conhg-rouler Hneighbor 10.1.1.1 update-source o0
RZ2(conhg-rouler Hnetwork 10.2.2.0 mask 2565.265.2656.0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

Explanation:

With BGP, we must advertise the correct network and subnet mask in the “network” command (in this case network 10.1.1.0/24 on R1 and network 10.2.2.0/24
on R2). BGP is very strict in the

routing advertisements. In other words, BGP only advertises the network which exists exactly in

the routing table. In this case, if you put the command “network x.x.0.0 mask 255.255.0.0” or

“network x.0.0.0 mask 255.0.0.0” or “network x.x.x.x mask 255.255.255.255"” then BGP will not

advertise anything.

It is easy to establish eBGP neighborship via the direct link. But let's see what are required when

we want to establish eBGP neighborship via their loopback interfaces. We will need two commands:

+ the command “neighbor 10.1.1.1 ebgp-multihop 2” on R1 and “neighbor 10.2.2.2 ebgpmultihop

2" on R1. This command increases the TTL value to 2 so that BGP updates can reach the BGP neighbor which is two hops away.
+ Answer ‘R1 (config) #router bgp 1

R1 (config-router) #neighbor 192.168.10.2 remote-as 2

R1 (config-router) #network 10.1.1.0 mask 255.255.255.0 R2 (config) #router bgp 2

R2 (config-router) #neighbor 192.168.10.1 remote-as 1

R2 (config-router) #network 10.2.2.0 mask 255.255.255.0 Quick Wireless Summary
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Cisco Access Points (APs) can operate in one of two modes: autonomous or lightweight

+ Autonomous: self-sufficient and standalone. Used for small wireless networks.

+ Lightweight: A Cisco lightweight AP (LAP) has to join a Wireless LAN Controller (WLC) to function.
LAP and WLC communicate with each other via a logical pair of CAPWAP tunnels.

— Control and Provisioning for Wireless Access Point (CAPWAP) is an IETF standard for control
messaging for setup, authentication and operations between APs and WLCs. CAPWAP is similar to
LWAPP except the following differences:

+CAPWAP uses Datagram Transport Layer Security (DTLS) for authentication and encryption to
protect traffic between APs and controllers. LWAPP uses AES.

+ CAPWAP has a dynamic maximum transmission unit (MTU) discovery mechanism.

+ CAPWAP runs on UDP ports 5246 (control messages) and 5247 (data messages) An LAP operates in one of six different modes:
+ Local mode (default mode): measures noise floor and interference, and scans for intrusion

detection (IDS) events every 180 seconds on unused channels

+ FlexConnect, formerly known as Hybrid Remote Edge AP (H-REAP), mode: allows data traffic

to be switched locally and not go back to the controller. The FlexConnect AP can perform standalone
client authentication and switch VLAN traffic locally even when it's disconnected to the WLC (Local
Switched). FlexConnect AP can also tunnel (via CAPWAP) both user wireless data and control traffic to
a centralized WLC (Central Switched).

+ Monitor mode: does not handle data traffic between clients and the infrastructure. It acts like a
sensor for location-based services (LBS), rogue AP detection, and IDS

+ Rogue detector mode: monitor for rogue APs. It does not handle data at all.

+ Sniffer mode: run as a sniffer and captures and forwards all the packets on a particular

channel to a remote machine where you can use protocol analysis tool (Wireshark, Airopeek, etc) to review the packets and diagnose issues. Strictly used for
troubleshooting purposes.

+ Bridge mode: bridge together the WLAN and the wired infrastructure together.

Mobility Express is the ability to use an access point (AP) as a controller instead of a real WLAN
controller. But this solution is only suitable for small to midsize, or multi-site branch locations where

you might not want to invest in a dedicated WLC. A Mobility Express WLC can support up to 100 Aps

NEW QUESTION 459
- (Topic 4)
Refer to the exhibit.

ELEVATION PATTERN AZIMUTH PATTERN

Which antenna emits this radiation pattern?
A. omnidirectional

B. Yagi

C. RP-TNC

D. dish

Answer: A

NEW QUESTION 464
- (Topic 4)
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VLAN 10 VLAN 20 VLAN 10 VLAN 20

Refer to the exhibit. Which two commands ensure that DSW1 becomes root bridge for VLAN 10? (Choose two)

A. DSW1(config)#spanning-tree vlan 10 priority 4096 Most Voted
B. DSW1(config)#spanning-tree vlan 10 priority root

C. DSW2(config)#spanning-tree vlan 10 priority 61440 Most Voted
D. DSW1(config)#spanning-tree vlan 10 port-priority O

E. DSW2(config)#spanning-tree vlan 20 priority O

Answer: CD

Explanation:
Ref: Scaling Networks v6 Companion Guide
“STP

Extended System ID

Bridge Priority
The bridge priority is a customizable value that can be used to influence which switch becomes the root bridge. The switch with the lowest priority, which implies
the lowest BID, becomes the root bridge because a lower priority value takes precedence.

The default priority value for all Cisco switches is the decimal value 32768. The range is 0 to 61440, in increments of 4096. Therefore, valid priority values are 0,
4096, 8192, 12288, 16384, 20480, 24576, 28672, 32768, 36864, 40960, 45056, 49152, 53248, 57344, and 61440. A bridge priority of O takes precedence over all
other bridge priorities. All other values are rejected.

NEW QUESTION 465
- (Topic 4)

€=== @BCP ===>

=== aBGP --->

Refer to the exhibit. Which configuration must be applied to ensure that the preferred path for traffic from AS 65010 toward AS 65020 uses the R2 to R4 path?
A)

R2(config # router bgp 65010
R2(config-router ¥ bgp default local-preference 200
R1(config# router bgp 65010
R1(config-router # bgp default local-preference 300

B)
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R4(config# router bgp 65020
R4(config-router # bgp default local-preference 200
RS5(config ¥ router bgp 65020
RS5(config-router # bgp default local-preference 300

C)

R2(config ¥ router bgp 65010

R2(config-router)# bgp default local-preference 300
R1(config # router bgp 65010

R1(config-router @ bgp default local-preference 200
D)

R4(config # router bgp 65020

R4(config-router ) bgp default local-preference 300
R5(config# router bgp 65020

R5(config-router # bgp default local-preference 200

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 467
- (Topic 4)
Which configuration protects the password for the VTY lines against over-the-shoulder attacks?

A. username admin secret 7 6j809j23kpp43883500N7%e$
B. service password-encryption

C. line vty 04 password $25$FpM7182!

D. line vty 0 15password $25$FpM71f82!

Answer: B

NEW QUESTION 471
- (Topic 4)
What is a client who is running 802.1x for authentication reffered to as?

A. supplicant

B. NAC device

C. authenticator

D. policy enforcement point

Answer: A

NEW QUESTION 476
- (Topic 4)
Which of the following security methods uses physical characteristics of a person to authorize access to a location?

A. Access control vestibule
B. Palm scanner

C. PIN pad

D. Digital card reader

E. Photo ID

Answer: B

Explanation:

This is because a palm scanner is a type of biometric security method that uses the physical characteristics of a person’s palm, such as the shape, size, and vein
patterns, to authorize access to a location. A palm scanner is more reliable and secure than other methods, such as a PIN pad or a digital card reader, which can
be easily stolen, lost, or shared. A palm scanner is also more hygienic and convenient than other biometric methods, such as a fingerprint scanner or a facial
recognition system, which can be affected by dirt, oil, or lighting conditions. The source of this answer is the Cisco ENCOR v1.1 course, module 2, lesson 2.2:
Implementing Device Access Control.

NEW QUESTION 480
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- (Topic 4)
Refer to the exhibit.

Deleta - httpa://153.168.42.105/restoont fdataf1eti-intorfaces: intarfaces/interface=Loophack100 n]

What does the response "204 No Content mean for the REST API request?

A. Interface toopback 100 is not removed from the configuration.
B. Interface toopback 100 is not found in the configuration.

C. Interface toopback 100 is removed from the configuration.

D. The DELETE method is not supported.

Answer: C

Explanation:

This is because the response “204 No Content” means that the REST API request was successful, but there is no content to return. The request was a DELETE
method, which is used to remove a resource from the server. The resource in this case was the interface loopback 100, which was deleted from the configuration
of the device. The source of this answer is the Cisco ENCOR v1.1 course, module 8, lesson 8.4: Implementing REST API.

NEW QUESTION 482
- (Topic 4)
Which there application has the ability to make REST calls against Cisco DNA Center?

A. API Explorer
B. REST Explorer
C. Postman

D. Mozilla

Answer: C

NEW QUESTION 485

- (Topic 4)

An engineer is configuring RADIUS-Based Authentication with EAP MS-CHAPV2 is configured on a client device.
Which outer method protocol must be configured on the ISE to support this authentication type?

A. EAP-TLS
B. PEAP

C. LDAP

D. EAP-FAST

Answer: D

NEW QUESTION 488
- (Topic 4)
Which device, in a LISP routing architecture, receives and de-encapsulates LISP traffic for endpoints within a LISP-capable site?

A. MR
B. ETR
C. OMS
D.ITR

Answer: B

NEW QUESTION 493
- (Topic 4)
An engineer applies this EEM applet to a router:
event manager applet Test
event timer watchdog time 600
action 1.0 cli command "enable"
action 2.0 cli command “term exec prompt timestamp"
action 3.0 cli command “term length 0"
action 4.0 cli command "show ip arp | in 0005.4210.0049"
action 5.0 regexp ".*(ARPA).*" $_cli_result
action 6.0 if $_regexp_result eq 1
action 7.0 syslog msg $_cli_result
action 8.0 end

What does the applet accomplish?

A. It generates a syslog message every 600 seconds on the status of the specified MAC address.

B. It checks the MAC address table every 600 seconds to see if the specified address has been learned.

C. It compares syslog output to the MAC address table every 600 seconds and generates an event when there is a match.
D. It compares syslog output to the MAC address table every 600 seconds and generates an event when no match is found.

Answer: B
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NEW QUESTION 494
- (Topic 4)
Which action limits the total amount of memory and CPU that is used by a collection of VMs?

A. Place the collection of VMs in a resource pool.

B. Place the collection of VMs in a vApp.

C. Limit the amount of memory and CPU that is available to the cluster.

D. Limit the amount of memory and CPU that is available to the individual VMs.

Answer: A

NEW QUESTION 496
- (Topic 4)
Which two methods are used by an AP that is typing to discover a wireless LAN controller? (Choose two.)

A. Cisco Discovery Protocol neighbour

B. broadcasting on the local subnet

C. DNS lookup cisco-DNA-PRIMARY .localdomain
D. DHCP Option 43

E. querying other APs

Answer: BD

NEW QUESTION 499
- (Topic 4)
Why would a small or mid-size business choose a cloud solution over an on-premises solution?

A. Cloud provides higher data security than on-premises.

B. Cloud provides more control over the implementation process than on-premises.
C. Cloud provides greater ability for customization than on-premises.

D. Cloud provides lower upfront cost than on-premises.

Answer: C

NEW QUESTION 501
- (Topic 4)
What is stateful switchover?

A. mechanism used to prevent routing protocol loops during an RP switchover
B. mechanism to take control from a failed RP while maintaining connectivity
C. First Hop Redundancy Protocol for host gateway connectivity

D. cluster protocol used to facilitate switch faitover

Answer: D
NEW QUESTION 506

DRAG DROP - (Topic 4)
Drag and drop the characteristics from the left onto the routing protocol they describe on the right

OSPF
supports unequal path koad balancing
link state routing protoco
distance veclor nouting protocol
metric s based on delay and bandwidth by default EIGRP

makes it easy to segment the network logically

constructs three tables as part of its operation: neighbor table,
topology table, and routing table

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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i | IOSPF
| supports unequal path load balancing il | '
| lirk state routing protocsl :
r_ )
i link state routing protocol ! |
e e T p_t _________ i makes it easy to segment the network logically
I
F—*—‘_‘_ﬂ_—_ﬁ_‘_-_u_.___—_ﬂ_ﬂ_h_—_d_‘_ﬂ_—_‘_-
' distance vector routing protocol : : constructs three tables as part of its operation: neighbor tabée,

topology table, and routing table

e

supports unequal path koad balancing

o 5o

___________________ ] ’
FJ—-—-—-—-—-—-—-—L-—-—L-—-—-—-—-—-—-—;-—-‘
| constructs three tables as part of its operation: neighbor table, :

topology table, and routing table 11

distance vector routing protocol

h metric is based on delay and bandwidth by default

B

NEW QUESTION 507

- (Topic 4)

Based on the router's API output In JSON format below, which Python code will display the value of the 'role’ key?

{

"response™: [{

)

“family": "Routers”,

“"macAddress": "00:¢8:8b:80:bb:00",

"hostname": "BorderA™,

“role": "BORDER ROUTER",
"lastUpdateTime": 1577420167054,
"serialNumber": "FXS8799Q1SE",
"softwareVersion": "16.3.2",
“"upTime": "5 days, 9:22:32:17",

"lastUpdated": "2021-03-05 23:30:37"

json_data = json.loads(response.text)
print(json_data['response’]['family']['role")

json_data = response.json()

print(json_data['response‘][family][‘role’))

json_data = json.loads(response.text)
print(json_data[response][0][role])

json_data = response.json()
print(json_data['response’][0]['role’])

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 512

- (Topic 4)

Which LISP infrastructure device provides connectivity between non-sites and LISP sites by receiving non-LISP traffic with a LISP site destination?

A. PETR
B. PITR

C. map resolver
D. map server

Answer: B
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NEW QUESTION 517
- (Topic 4)
When a branch location loses connectivity, which Cisco FlexConnect state rejects new users but allows existing users to function normally?

A. Authentication-Down / Switch-Local

B. Authentication-Down / Switching-Down
C. Authentication-Local / Switch-Local

D. Authentication-Central f Switch-Local

Answer: A

Explanation:

This is because Cisco FlexConnect is a feature that allows wireless access points to operate in standalone mode when they lose connectivity to the wireless LAN
controller. Cisco FlexConnect has different states depending on the status of the authentication and switching functions. Authentication-Down means that the
access point cannot authenticate new users with the central server, such as a RADIUS server. Switch- Local means that the access point can switch the traffic
locally without sending it to the wireless LAN controller. Therefore, Authentication-Down / Switch-Local is the state that rejects new users but allows existing users
to function normally. The source of this answer is the Cisco ENCOR v1.1 course, module 7, lesson 7.3: Implementing FlexConnect.

NEW QUESTION 521

DRAG DROP - (Topic 4)

An engineer must create a script to append and modify device entries in a JSON-formatted file. The script must work as follows:

? Until interrupted from the keyboard, the script reads in the hostname of a device, its management IP address, operating system type, and CLI remote access
protocol.

? After being interrupted, the script displays the entered entries and adds them to

the JSON-formatted file, replacing existing entries whose hosthname matches. The contents of the JISON-formatted file are as follows:

{

‘examplerouter”: {
"ip"™: "203.0.113.1",
"os": "ios-xe",
“protocol”: "ssh"

Drag and drop the statements onto the blanks within the code to complete the script. Not all options are used.

l I | while True:

ChangedDevices = {}

try: | i

| | | importjson

Hame = input('\n\nDevice name: ')
IP = input('Address: ') I~ b sovbstd
08 = input('Cperating systam: ') | Fite.closa()
Proto = input('CLI access protocol: '} | s

ChangedDavices .updata ({Nama: ["ip": IP,

"gs": 08, "protocol": Proto)l})

{(KeyboardInterrupt, EOFError):

pass

print ("\n\n===> Entersd device antries et}
print (json.dumps (ChangedDevices, indent=4))

!t"davicaﬂnata.jsnn", mr+t)

Davices = json.load(File)
Davices.update (ChangedDevices)
File.seek(0)

ison.dump (Davices, File, indent=4)

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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I jipoct taon I t while True: |
changedpevices - {y 0000
try: !:— . e
| while True; "-_"_"_"';'-_'”'b
Mame = input('\n\nDevice name: ') -

| Filespen(
IP = input('Address: ') e e —
'-1rw_‘w'|_~1
05 = input('Operating system: ') Fileclosed) ]
Proto = input('CLI access protocel: 'y pF—-—-—-—e-
r File = cppen |

ChangedDevices .update ({Name: ("ip": IP,
"os": 08, "protocol™: Proto)l})
| File.close() {KeyboardInterrupt, EOFError) :

pass

print ("\n\n===> Entered device entries <)
print (json.dumps (ChangedDevices, indent=4))
| F"‘E'W“jl J ("devicesData. json", "r+")

Dovices = json.load(File)
Davicaes.update (ChangedDeviceas)
File.seak (0)

json.dump (Devices, File, indent=4)

[P

NEW QUESTION 526
- (Topic 4)
What are two characteristics of vManage APIs? (Choose two.)

A. Southbound API is based on OMP and DTLS.

B. Northbound API is RESTful, using JSON.

C. Northbound API is based on RESTCONF and JSON.
D. Southbound API is based on NETCONF and XML.

E. Southbound API is based on RESTCONF and JSON.

Answer: BD

NEW QUESTION 529

- (Topic 4)

A technician is assisting a user who cannot connect to a website. The technician attempts to ping the default gateway and DNS server of the workstation.
According to troubleshooting methodology, this is an example of:

A. a divide-and-conquer approach.
B. a bottom-up approach.

C. a top-to-bottom approach.

D. implementing a solution.

Answer: C

Explanation:

This is because a top-to-bottom approach is a troubleshooting methodology that starts from the highest layer of the OSI model and works its way down to the
lowest layer. The technician is using this approach by first testing the network layer connectivity with the ping command, which uses the ICMP protocol. If the ping
is successful, the technician can move on to the next layer, such as the transport layer or the application layer. If the ping fails, the technician can troubleshoot the
lower layers, such as the data link layer or the physical layer. The source of this answer is the Cisco ENCOR v1.1 course, module 10, lesson 10.3: Applying
Troubleshooting Methodologies.

NEW QUESTION 533
- (Topic 4)
Which authorization framework gives third-party applications limited access to HTTP services?

A. iPsec
B. Basic Auth
C. GRE
D. OAuth 2.0

Answer: D

NEW QUESTION 535
- (Topic 4)
Refer to the exhibit.
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Which type of antenna is shown on the radiation patterns?

A. Yagi

B. dipole

C. patch

D. omnidirectional

Answer: A

NEW QUESTION 540
- (Topic 4)
What is difference between TCAM and the MAC address table?

A. TCAM is used to make Lalyer 2 forwarding decisions CAM is used to build routing tables.
B. The MAC address table supports partial matches .TCAM requires an exact match.

C. The MAC address table is contained in CAM.ACL and QoS information is stored in TCAM.
D. Router prefix lookups happens in CAM.MAC address table lookups happen in TCAM.

Answer: D

NEW QUESTION 543
- (Topic 4)
Which Cisco WLC feature allows a wireless device to perform a Layer 3 roam between two separate controllers without changing the client IP address?

A. mobile IP

B. mobility tunnel
C. LWAPP tunnel
D. GRE tunnel

Answer: B

NEW QUESTION 546
- (Topic 4)

100

- internet
1
[P —

Radus
PC1 PC
Servet <
1001024

Refer to the exhibit. Which command set enables router R2 to be configured via NETCONF?
A)

R1(config)# username Netconf privilege 15 password example_password
R1(config# netconf-yang
R1(config)}# netconf-yang feature candidate-datastore

B)

R1(config)# snmp-server manager
R1(config)¥ snmp-server community ENCOR ro
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C)

R1(config)# snmp-server manager
R1(config)# snmp-server community ENCOR rw

D)

R1(config)# netconf
R1(config)# ip http secure-server

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 551
- (Topic 4)
Which QoS queuing method transmits packets out of the interface in the order the packets arrive?

A. custom

B. weighted- fair
C. FIFO

D. priority

Answer: C

NEW QUESTION 554
- (Topic 4)
Which two functions is an edge node responsible for? (Choose two.)

A. provides multiple entry and exit points for fabric traffic

B. provides the default exit point for fabric traffic

C. provides the default entry point for fabric traffic

D. provides a host database that maps endpoint IDs to a current location
E. authenticates endpoints

Answer: AD

NEW QUESTION 555
- (Topic 4)

An engineer must configure GigabitEthernet 0/0 for VRRP group 65. The rouler must assume the primary rote when it has the highest priority in the group. Which

command set must be applied?
A)

mterface GigabitEthernet0')

p address 10.10.10.1 2556 265.255.0
virp 65 ip 10.10.10.1

standby 65 priority 100

standby 65 preempt

B)

interface GigabitEthernetQ0

ip address 10.10.10.2 255 255.255.0
standby 65 ip 10.10.10.1

standby 85 rack 1 decrement 10

standby 65 preempt

C)
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interface GigabntEthernet0'0

p address 10.10.10.2 2558 28525850
virp 65 ip 10.20.20 .1

virp 65 track 1 decrement 100

virp 65 preempt

virp 65 authentication $28442619822

D)

interface GigabitEthernet0'0
p address 10.10.10.2 258 2658 25850
virp 65 ip 10.10.10.1

virp 65 priority 110

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 559
- (Topic 4)
How is traffic classified when using Cisco TrustSec technology?

A. with the VLAN

B. with the MAC address

C. with the IP address

D. with the security group tag

Answer: D
NEW QUESTION 564

- (Topic 4)
What is a benefit of using segmentation with TrustSec?

A. Packets sent between endpoints on a LAN are encrypted using symmetric key cryptography.

B. Firewall rules are streamlined by using business-level profiles.
C. Integrity checks prevent data from being modified in transit.
D. Security group tags enable network segmentation.

Answer: B

NEW QUESTION 567
- (Topic 4)
Which two pieces of information are necessary to compute SNR? (Choose two.)

A. transmit power
B. noise floor

C. EIRP

D. antenna gain
E. RSSI

Answer: BE

NEW QUESTION 570

- (Topic 4)

Which signal strength and noise values meet the minimum SNR for voice networks?
A. signal strength -67 dBm, noise 91 dBm

B. signal strength -69 dBm, noise 94 dBm

C. signal strength -68 dBm, noise 89 dBm

D. signal strength -66 dBm, noise 90 dBm

Answer: A

NEW QUESTION 575
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- (Topic 4)

Rl% show ip bgp summary
BGP router identifier 10.255.255.1, local AS number 65000
BGP table wersion is 1, main routing table version 1

Neighbor V AS MHsgRewd MsgSent ThlVer InQ OCutQ UpfDown  State/PfuRcd
18.25%.255.3 4 65080 0 @ 1 & a Never Idle

R1® ping 18.255.255.3 source lo@

Type escape sequence to abort.

Sending 5, 100-byte ICMP Echos to 10.255.255.3, timeout is 2 seconds
Packet sent with & source address of 10.295.255.1

HEEE

Success roate is 100 percent (5/5%), round-trip minfovg/max = 1/1/3 ms

Rl# telnet 10.255.255.3 179 /source-interface lod@
Trying 10.255.255.3, 179 . . .
X Destination unreachable; gateway or host down

fl# debug ip tcp transactions

TCP special event debugging i1s on

His=

"Sep 12 18:15:087.958: TCETFOE4OC5AA38 created

“Sep 12 10:15:07.958: TCPO: state was LISTEN -> SYNRCVD [179 -> 10.295.255.3(55%290)]

"Sep 12 10:15:07.958: TCP: tch 7FOEL0CSAAIER connection to 10.255.255.3:55200, peer MSS 1460, MSS is 516
*Sep 12 10:15:07.958: TCP: pmtu enabled, mss is now set to 1460

"Sep 12 10:15:07.958: TCP: sending SYN, séq 2953990054, ack 2159850152

“Sep 12 10:15:07.958: TCPO: Connection to 10.3255.255.1:55200, advertising M55 14560

"Sep 12 10:15:07.958: TCPO: I(MP destination unreachable received

Refer to the exhibit An engineer is troubleshooting a newly configured BGP peering that does not establish What is the reason for the failure?

A. BGP peer 10 255 255 3 is not configured for peenng wth R1

B. Mandatory BOP parameters between R1 and 10 255 255 3 are mismatched
C. Afirewall is blocking access to TCP port 179 on the BGP peer 10 255 255.3
D. Both BGP pern are configured for passive TCP transport

Answer: A

NEW QUESTION 579

- (Topic 4)

Which solution simplifies management ot secure access to network resources?

A. RFC 3580-based solution to enable authenticated access leveraging RADIUS and AV pairs
B. TrustSec to logically group internal user environments and assign policies

C. 802.1AE to secure communication in the network domain

D. ISE to automate network access control leveraging RADIUS AV pairs

Answer: B

NEW QUESTION 581

- (Topic 4)
Branch 1
swz |
- - 2
e Central Site
10.0.1.0/24 — _
WAN
10.00.0/24
Branch 2 3 2
|
- - FTP  Web
1002 0/24 Server  Server
10.0.101.0.7224

Refer to the exhibit Which two commands are required on route» R1 to block FTP and allow all other traffic from the Branch 2 network’ (Choose two)
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access-list 101 deny tep 10.0.2.0 0.0.0.255 host 10.0.101.3 eq fip-data
access-list 101 permit ip any any

access-list 101 deny tep 10.0.2.0 0.0.0.255 host 10.0.101.3 eq fip
access-list 101 deny tep 10.0.2.0 0.0.0.265 host 10.0.101.3 eq ftp-data
access-list 101 permit ip any any

interface GigabitEthernet0/0
ip address 10.0.0.1 255.255.285.252
ip access-group 101 out

interface GigabitEthernet0/0
ip address 10.0.101.1 2565.2685.2585.252
ip access-group 101 in

access-list 101 deny tep 10.0.2.0 0.0.0.255 host 10.0.101.3 eq fip
access-list 101 permit ip any any

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: BC

NEW QUESTION 583
- (Topic 4)

event manager applet Config

event cli pattern “configure tehlinal'[:::::::::]

action 1.0 ¢li command “enable”

Refer to the exhibit. An engineer constructs an EEM applet to prevent anyone from entering configuration mode on a switch. Which snippet is required to complete
the EEM applet?

A. sync yes skip yes
B. sync no skip yes
C. sync no skip no
D. sync yes skip no

Answer: B

NEW QUESTION 586
- (Topic 4)
An engineer uses the Design workflow to create a new network infrastructure in Cisco DNA Center. How is the physical network device hierarchy structured?

A. by organization

B. by location

C. by hostname naming convention
D. by role

Answer: B

Explanation:

This is because the Design workflow in Cisco DNA Center allows the engineer to create a new network infrastructure by defining the physical network device
hierarchy based on the location of the devices. The location hierarchy consists of four levels: global, area, building, and floor. The engineer can add, edit, or delete
locations and assign devices to them. The location hierarchy helps to organize the network devices and apply policies and settings based on the location. The
source of this answer is the Cisco ENCOR v1.1 course, module 8, lesson 8.6: Implementing Network Design Processes.

NEW QUESTION 589

- (Topic 4)

Which two steps are required for a complete Cisco DNA Center upgrade? (Choose two.)
A. golden image selection

B. automation backup

C. proxy configuration

D. application updates

E. system update

Answer: DE

NEW QUESTION 592

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM 350-401 Dumps From Exambible
exam blbk—.‘ https://www.exambible.com/350-401-exam/ (747 Q&AS)

- (Topic 4)
Which two methods are used to interconnect two Cisco SD-Access Fabric sites? (Choose two.)

A. SD-Access transit
B. fabric interconnect
C. wireless transit

D. IP-based transit

E. SAN transit

Answer: AD
NEW QUESTION 594

- (Topic 4)
_Refer to the exhibit.

{ FECOTOIg
5 s Tracing the route to 172.16.1.2
172.16.250.4./30

1 172.16.250.1 2 msac

172.16.250.5 5 musoo

172.16.250.1 2 msec

2 172.16.250.1 Z msec

FTP Web 172.16.250.5 5 maac

PC2

PC1 e Sava 172.16.250.1 2 msec

172 16.40.0 /24 17216.1.0.24 3 172.16.1.2 6 msoc 5 mesac 5 msec

AR2# show ip route
Codas: C - connected, 8 - statde, I - IGRP, R - RIF, M - mobila, B - BGP
D - EIGRP, EX - EIGRP extornal, © - OSPF, IA - OSPF intaer aruoa
Nl - OSPF NSSA external type 1, NZ - OS5PF NSSA extarnal type 2
El - OSPF extornal type 1, E2 - OSPF external type 2, E - ECP
i - I5-18, L1 - 1IS5-I8 lavel-1, 12 - IS-IS5 laevel-2, * - candidate dafaule
U - par-usar static route, o - ODR
Gateway of last resort is not set
C 172.16.0.0/16 is directly connected, Loopback(
172.16.0.0/16 is varlably subnetted, 2 subnets, 2 masks
C 172.16.40.0/24 is directly connected, Gigabit Ethernet 0/1
(1] 172.16.1.0/24 [110/7445] via 172.16.250.1, 00:39:08, Cigabit Etharnat 0/0
[110/7445] wvia 172.16.250.5, 00:39:08, Gigabit Ethernet 0/4

Clients are reporting an issue with the voice traffic from the branch site to the central site. What is the cause of this issue?

A. The voice traffic is using the link with less available bandwidth.

B. There is a routing loop on the network.

C. Traffic is load-balancing over both links, causing packets to arrive out of order.
D. There is a high delay on the WAN links.

Answer: C

Explanation:

Traffic is load-balancing over both links, causing packets to arrive out of order. This can cause voice quality issues, such as jitter and delay. To avoid this problem,
voice traffic should be sent over a single path, using a routing protocol that supports unequal-cost load balancing, such as EIGRP. The source of this answer is the
Cisco ENCOR v1.1 course, module 4, lesson 4.3: Implementing EIGRP.

NEW QUESTION 595
- (Topic 4)

ip access-list extended 181

18 deny ip any any

)
event manager applet Block_Users

action 1.8 cli command “enable”

action 2.0 cli command “configure terminal”
action 3.8 cli command "interface GigabitEthernetl”
action 4.0 cli command “ip access-group 101 in~
action 5.0 ¢li command “ip access-group 101 out”

Refer to the exhibit. An engineer builds an EEM script to apply an access list. Which statement must be added to complete the script?

A. event none

B. action 2.1 cli command "ip action 3.1 ell command 101"
C. action 6.0 ell command "ip access-list extended 101"
D. action 6.0 cli command "ip access-list extended 101"

Answer: A

NEW QUESTION 598
- (Topic 4)
Refer lo the exhibit.
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interface Etrernetd/Q

ipaddress 10.1.1.1 255.255.255.252

[
0
4
=
e
iy
L
¥
ot
¥
a
¥

interface Ethernetd/0

ipadaress 10.19.10.1 255.1255.

[
T
un
L]

Which address type is 10.10.10.10 configured for?

A. inside global
B. outside local
C. outside global
D. inside local

Answer: D
NEW QUESTION 600

- (Topic 4)
Refer to the exhibit.

Add a new network

MNetwork namss

AL ME Interral

secunty type

WIPA2 - Enterprse AFS

FAP murthog

Proftected BAP 'PEAF

Authertication method

Secured password [EAP-MSCHAP w2)
' Connect automaticaly
D Connect @ven If this network 5 not broadcasting

Sdve Canced

ip nat inside source static 19.19.19.10 18.0.

A company has an internal wireless network with a hidden SSID and RADIUS-based client authentication for increased security. An employee attempts to
manually add the company network to a laptop, but the laptop does not attempt to connect to the network. The regulatory domains of the access points and the

laptop are identical. Which action resolves this issue?

A. Ensure that the "Connect even if this network is not broadcasting” option is selected.
B. Limit the enabled wireless channels on the laptop to the maximum channel range that is supported by the access points.

C. Change the security type to WPA2-Personal AES.
D. Use the empty string as the hidden SSID network name.

Answer: A
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NEW QUESTION 601
- (Topic 4)
In a wireless network environment, what is calculated using the numerical values of the transmitter power level, cable loss, and antenna gain?

A. RSSI
B. dBI

C. SNR
D. EIRP

Answer: B

NEW QUESTION 603
- (Topic 4)
Refer to the exhibit.

|I'! Sntfer
Gig 01

Fids
Sanvar

Gig 0

SWl(config) émonitor session 1 type rspan-destination
3W1 {config-mon-rspan-dst) #source remote vlan 50
SWl (config-mon-rspan-dst)#destination interface gigabltEthernet

=
"
=

SW2 (config) émonitor session 1 type rEpan-source
sW2 (config-mon-rspan-src) #source vlan &0
SW2 (config-mon-rspan-src) #destination remote wlan 50

— p—
172.16.2.0 /24

An engineer must send the 172.16.2.0 /24 user traffic to a packet capture tool to troubleshoot an issue. Which action completes the configuration?

A. Encrypt the traffic between the users and the monitoring servers.
B. Disable the spanning tree protocol on the monitoring server VLAN.
C. Enable the Cisco Discovery Protocol on the server interfaces.

D. Define the remote span VLAN on SW1 and SW2.

Answer: D

Explanation:

This is because the remote span VLAN is used to transport the mirrored traffic from the source switch to the destination switch, where the monitoring server is
connected. The remote span VLAN must be defined on both switches and must not be used for any other purpose. The source of this answer is the Cisco ENCOR
v1.1 course, module 6, lesson 6.2: Implementing SPAN, RSPAN, and ERSPAN.

NEW QUESTION 608
- (Topic 4)
Which unit of measure is used to measure wireless RF SNR?

A. mW
B. bBm
C.dB
D. dBi

Answer: C

NEW QUESTION 609
DRAG DROP - (Topic 4)
Drag and drop the code snippets from the bottom onto the blanks in the code to construct a request that configures a deny rule on an access list?
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{
"ip": {
"access=list": {
"ios-acl:extended": |

"ios-acl:name": "ato",

"jos-acl:| fall |
"ios-acl:sequence”: "111111",
"ios-acl:ace-rule": {

"jos-acl:action": " ol
"jos-acl:protocol”: " o
"ios-acl:any": "",
"jos-acl: juy -.
}
}
}
}
}
}
| deny access-list-seqerule | dst-any | ip
A. Mastered
B. Not Mastered
Answer: A
Explanation:
{
"ip": {

"access-list": |{
"ios-acl:extended": |
"ios-acl:name": "ato",
"jos-acl: dst-any [Wis 4
"ios-acl:sequence”: "111111",
"ios=-acl:ace-rule": |
"jos-acl:action": " il ",
"ios-acl:protocol": " | p il
"jos-acl:any": ",
"jos~acl: acesslistseqrule | &

NEW QUESTION 610
- (Topic 4)
Refer to the exhibit.
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phi=|

=get-config mins="um el params xmins netconf base 1 0"
<SOUrce>
running/
</SOUrCe>
filter=
<native xmins="http f'aisco.com/ns/yang/Cisco-l0S-XE -native™
<p>
<gCcess-hist
<gxended xmins="hilp /asco.comnsiyang/ Ciscol05-XE-acl =
< Mmee = Tip< /Narme:
<jgxtended>
</@aCress-hst>
r..ﬂ'\
</natres
= filler>
«/get-config>

l
with manager connect{host=10.1.1.1, port=830, usemame=Cisco, password=cisco, tmeout=00, hostkey_venfy=False) as m
for rmpc in pit
r1= m.dispatchiet fromstringlrpc))
d1= xmitodecl parse{r 1 xmi){rpc-reply)'data’nalveipTaccess-kstTextended access-ist-seqg-nie’]

What is achieved by the XML code?

A. It reads the access list sequence numbers from the output of the show ip access-list extended flp command into a dictionary list.

B. It displays the output of the show ip access-list extended flp command on the terminal screen

C. It displays the access list sequence numbers from the output of the show Ip access-list extended flp command on the terminal screen
D. It reads the output of the show ip access-list extended flp command into a dictionary list.

Answer: A

NEW QUESTION 614

- (Topic 4)

A company recently rearranged some users' workspaces and moved several users to different desks. The network administrator receives a report that all of the
users who were moved are having connectivity issues. Which of the following is the most likely reason?

A. Ports are error disabled.

B. Ports are administratively down.
C. Ports are having an MDIX issue.
D. Ports are trunk ports.

Answer: A

Explanation:

This is because ports can become error disabled when they detect certain errors or violations on the network, such as a loop, a security breach, or a duplex
mismatch. When a port is error disabled, it shuts down and stops forwarding traffic until it is manually re-enabled by the administrator. The users who were moved
to different desks may have plugged their devices into ports that were configured with different settings or security policies than their original ports, and this may
have triggered the error disable state. The source of this answer is the Cisco ENCOR v1.1 course, module 3, lesson 3.3: Implementing EtherChannel.

NEW QUESTION 618
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